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Question Number : 1 Question Id : 91394321539 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Which of the following indicates the concept of Zone of Proximal Development (ZPD) as
suggested by psychologist Lev Vygotsky ?

Options:

1304354601 £\ learner’s brain develops faster in childhood.
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What a learner can do with help and without help.
91394384603,

a1394354504 Friends interaction is very important for proper development of child.
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Correct Marks: 2 Wrong Marks: 0
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Question Number : 2 Question Id : 91394321540 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Which among the following is the correct set of four fundamental principles of Rabindranath
Tagore’s educational philosophy ?

Options:

oi5edascos HUmanism, Commercialisation, Urbanisation, Hinduism

T Naturalism, Humanism, Internationalism, Idealism

1594584607 Globalisation, Localisation, Transformation, Capitalism

Socialism, Spiritualism, Tourism, Commercialism
91394384608,
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Question Number : 3 Question Id : 91394321541 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

The field of study of the theory and practice of self-determined learning that focuses on the
importance of knowing how to learn is known as :

Options:

LIS ooy
150438400 LPIStemology

N T " TLr
91394384610, Andragogy

Pedacoov
91394384611, agos)

Heutag¢oovy
91394384612, oo/
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Correct Marks: 2 Wrong Marks: 0
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Options:

91334554609,

TTEITeq Jomet

91334584610,

91334584611, ‘Fm A2

91394384612, SATeH - 3AfeT
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Options:

Andracoey
91394384613, 5986}

Yoy rim
’sychology
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dYodacoov
91394384615, Pedagogy

Cognitive development
91394384616
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Question Number : 5 Question Id : 91394321543 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

The field of study dealing with methods and principles used in adult education is known
as :

Options:

> RS PR ;
91394384617, IE[{‘I?)[}ETF

A0 LAV
s1394384615, 11 NAragogy

Anthropoloev
91394354619, POIOEY

91394384650, Gerontology
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Question Number : 6 Question Id : 91394321544 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

The four approaches to knowing answers to research questions, according to Kerlinger,

( Method of tenacity
( Method of intuition
(c) Method of authority
(d) Method of science
(e) Method of creativity

(f)  Method of non-functionality
Code :
Options:

91394384621 (), (b), (c) and (d)
91394384622, (b), (¢), (d) and (e)
91394384523, (D) (d), (e) and (f)

o1394384624 () (d), (e) and (f)
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Correct Marks: 2 WrongMarks: 0
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Options:

(@), (b), (c) 3R (d)

91334554621,

c), (d) 3R (e)

9139434E22. (b)’ (

21394384623, (0) (d), (&) &R ()

a1394384624, (O (), (€) S (f)

Question Number : 7 Question Id : 91394321545 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

One way to measure the extent to which a measure is free of random error is to compute
its :
Options:

91394384695, Content validity

Experimenter’s bias
91394384626

Test-retest reliability
91394384627, :

SIS Demand characteristics
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Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Question Number : 8 Question Id : 91394321546 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
Qualitative researchers criticise quantitative research for its tendency towards :

Options:

91394384629, Emphasis on evidence
Focus on empiricism

91394384630,

91394384531 Reductionism

91394334632, Obsession with ::reatlwt}-'

Question Number : 8 Question Id : 91394321546 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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Options:

91394384629, & X SIcd

IIHFEAR R SR

2153942546350

91234554631, E ’
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Question Number : 9 Question Id : 91394321547 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Which method is appropriate to reduce random error ?

Options:

01304384633, Clect large sample size

" 'L‘ I.-| - B _1 _'! 3 i -_
91394384634 Administer the test after a gap of one week

Gnom pees Administer the treatment in the same way every time

o150434cas Lrdminister manipulation checks

Question Number : 9 Question Id : 91394321547 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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Question Number : 10 Question Id : 91394321548 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

In relation to code of conduct in research, what does APA stand for ?
Options:

R— Advanced Psychological Authority

American Psvcholoeical Association
91394384638, . YRR M e

g - dgvie S ssociatio
S Australian Psychological Association

Association of Psvcholoeical Assessments
91394384640, S FRRGIOR s

Question Number : 10 Question Id : 91394321548 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Sub-Section Number: 2
Sub-Section 1d: 9139431152
Question Shuffling Allowed : Yes

Question Id : 91394321549 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (11to 15)
Cuestion Label @ Comprehension

Read the following passage carefully and answer questions 11 to 15.

For all the disagreement in the industry about the future of aviation, there is perfect accord
on one point : There is going to be a lot more of it. The world’s air passengers flew a combined 7.64
trillion kilometers in 2017. By 2037, that will rise to 18.97 trillion kilometers, with about 40% of the
increase happening within five intra-regional markets : China, India, North-America, Europe and
South-east Asia. That is sparking a battle over the biggest bottleneck holding back this growth :
airports. The governments that still own many of them should be more open to privatisation to
cover a $ 78 billion funding gap in needed capital investments. Airlines, airports’ biggest customers,
see things differently. Costs at privatised terminals are higher and governments should be cautious
about such actions in the interests of expanding the aviation sector as a whole. Privatising an
airport does not necessarily make it more efficient. A study has found there was little difference
between the performance of airports 100% owned by commercially-oriented government
corporations and those majority controlled by private businesses. The key is instead to avoid
structures where the incentives for managers are confused or misaligned, such as where private
companies are brought in as minority investors or where managers are essentially bureaucrats
swayed by political imperatives. There is a better solution out there, but it is not likely to be very
attractive to incumbent airlines, airports, or passengers enamoured of the current generation of
gleaming terminals : build more, cheaper airports.

Sub questions

Question Number : 11 Question Id : 91394321550 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
What is the growth rate in aviation apart from the five intra-regional markets ?

Options:
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Question Number : 12 Question Id : 91394321551 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Why should the governments be open to privatisation of airports ?
Options:

- L'! T '3 Ir - T - : " L'|
GEam p Because they own many airports

Because there is a battle for growth
91394384646

For necessary u:apita[
91394384647, .

91594384645 ['o limit the government contr ol of aviation mduatr},

Question Number : 13 Question Id : 91394321552 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
How do airlines see the move for privatisation of airports ?

(a) Feel that costs are high

(b)  Governments should be cautious

(c) Interest of the aviation sector is important
(d) It decentralises the authority to control
Code :

Options:

(a), (b) and (c)

912334554643,

(b), (c) and (d)

H91334554650,

(c), (d) and (a)

91334584651,
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Question Number : 14 Question Id : 91394321553 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
What is the key for making airports function efficiently ?
Options:

C Ve 50 anies as minority s )
a15043m4ces Make private companies as minority shareholders

2 1 10 H 4 1 - 1 - E 5
) . s to rers.
a15043m4ce, L TOVIde misaligned incentives to managers

0} ‘l. 3 g k4 3 e L. .’ 8] - - L. - ." L, y ,_-_
a1594384css Recognise political imperatives of bureaucrats appointed as managers

Avoid structures of confused incentives to managers.
91394384656

Question Number : 15 Question Id : 91394321554 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
Which of the following is the focal inference of the author in the passage ?

Options:

p < 1 - . 3%
- wnership rts does no :
o15045845, | rivate ownership of airports does not mean efficient management

o15943846s5 Growth of the aviation industry is distorted.

Airports are not an obstacle to the erowth of aviation industrv.
91394384659, 1 L POT € it ' B B y

Government-owned airports are known for high performance.
913943846860,

Question Id : 91394321549 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (11 to 15)
Cestion Label | Comprehiension
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Question Number : 11 Question Id : 91394321550 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:
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Question Number : 12 Question Id : 91394321551 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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(@), (b) 3R ()

91334554649,

(b), (c) 3R (d)

2912334584650,

(©), (d) 3R (a)

H91334554651.

(d), (a) 3R (b)

2153394254652,
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Question Number : 16 Question Id : 91394321555 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Signs are considered as secondary products of :

Options:
R

91394384661 MIESSAGE

91394334860 —hannelisation

Semantic accura cy
91334554663, "

91394384664, Infotainment

Question Number : 16 Question Id : 91394321555 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

a9 &

91234554661,
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Question Number : 17 Question Id : 91394321556 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

The relational approach in classroom communication comes from :
Options:
91394384665 1NIra-personal communication

[nter-personal communication
91394384666

130435465, OTganisational communication

91394384668, Mass communication

Question Number : 17 Question Id : 91394321556 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

FHENT T H Heures UMY fHeg 9 2 8 2
Options:

S T ’
91394384665, AU AT[FIh Uy

SR —AfeRTsh Tl

21594254666,

91394384667, W1 1OTICHSD Yo

*

SHEER

91334554668,

Question Number : 18 Question Id : 91394321557 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Classroom speech is considered as a :

Options:
91394334669, 1 echnical medium

91394384670, INONn-technical medium



gvl\lg\{%wg-gggpp-mlass medium g!epp

rsonal Exams Guide

41394384675 Unorganised medium

Question Number : 18 Question Id : 91394321557 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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Options:

91334554669, dehichl HIt4H

91394384670, TR-TqehIeh] HIEAH
91394384671 911 HIZTH

3HTTSd HISTH
91394384672, Hi

Question Number : 19 Question Id : 91394321558 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

In a classroom, communication becomes effective when participants are :
( Active

( Empathetic
(c) Heterophilous
(d) Homophilous
(

(

e) Silent
f) Uncritical
Code
Options:

91394384673, (a), (b), (c) and (d)

41394384674 (b), (c) (d) and (e)

(a), (b), and (d)

B912334584675.

91394384676, (c). () and (f)
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Options:

(@), (b), (c) 3R (d)

H1334584673.

0), (d) 3R (e)

91394384674, (b)’ (

91334584675,

B912334584676,

Question Number : 20 Question Id : 91394321559 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
The information seeking strategies of students are :

(a) Entropy-oriented
(b) Owvert
(c) Non-functional
(d) Indirect

(e) Third party

(

fy  Testing

Options:

91394384677, (a), (b), (d) and (e)
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91594384679 (b), (d), (e) and (f)

s1394384630. (3)r (D), (¢) and (f)

Question Number : 20 Question Id : 91394321559 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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(b) &
(c) ST
(d) 3T9caE
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Options:

(a), (b), (d) IR (e)

91334584677,

(b), (), (e) S (f)

913345354675,

(b), (d), (e) 3 (f)

91334584673,

(a), (b), () 3T ()

91334584680,

Question Number : 21 Question Id : 91394321560 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
If DIVE is coded as IMYG, then the code for TAKE will be :

Options:

2915334254681, XFMG



HARRISRP WENG preee

913345 ersonalExams Guids

91394384633, 1T MG

91334554654, XENG

Question Number : 21 Question Id : 91394321560 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
gfg DIVE &1 IMYG % ®9 H Feag fan Sira € @ TAKE &1 2 31 :

Options:

91394384651, XEMG

91334584682, YENG

TFEMG
91394384683,

91334554654, XENG

Question Number : 22 Question Id : 91394321561 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
The next term in the series is :
5o, 40, 27 17, .10,

Options:

B91334584685. 6
B91234584656. 7

913345846857,

215334254685, >

Question Number : 22 Question Id : 91394321561 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
TH @l @l I SIS
06, 40, 27, 17, 10,

Options:
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91334554656, 7

91334554657, 8

2
91394384688, 2

Question Number : 23 Question Id : 91394321562 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
The next term in the letter series is ;

ME, KH, IK, GN, IS :

Options:

291234584659, hQ
913345846350, CK

91394384691, bD

91394384692.L)L

Question Number : 23 Question Id : 91394321562 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

0 AT 1 A HIT :

ME, KH, IK, GN,

Options:

91334554659, LQ

91334554630, CK

21594254691, BD

91394384892 DT

Question Number : 24 Question Id : 91394321563 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



MWRIERR word which is different from the rest. 'repp
Options:
91394384693, Eyes

91394384694 LNOSE

Legﬁ.
91394384695,

91394354606 11aNds

Question Number : 24 Question Id : 91394321563 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
fFeferfiad | 9 9fe 9= g :

Options:

e

B913345846593. SeliES

91394384694, D
91394354695 UX
B

2153394254656

Question Number : 25 Question Id : 91394321564 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Ram said, “I am the only child of my mother”. Next he pointed to a boy and continued,
“This boy is the husband of the grandchild of my mother”.

How is Ram related to the boy ?

Options:

91594354697 Lather

a1za4zs460s orandfather

91394384699, Brother-in-law

1394384700 I ather-in-law

Question Number : 25 Question Id : 91394321564 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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W &1 39 TH § 71 oy 2
Options:

91334584657, I Il

H913345546595. =

-l

2153942546599

91394384700, hle -1l

Question Number : 26 Question Id : 91394321565 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
Given below are two premises (a) and (b).

Four conclusions are drawn from them. Select the code that states validly drawn conclusion(s)
[taking the premises individually or jointly].
Premises : (a) Some women are teachers.

(b) All teachers are hard-working.

Conclusions :

(i)  All hard-working people are teachers.
(i)  All teachers are not women.
(ili) Some hard-working teachers are women.
(iv) Some women are hard-working.
Code :
Options:
912334584701, (l) and (ll)
(ii) and (iii)
91334584702,
(1) and (iv)
2153342547035,
(iii) and (iv)
91234584704,

Question Number : 26 Question Id : 91394321565 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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99 § =R freend 3g9a forn T €1 39 Fe 1 e 9 freed (df) 9 Sfea & § seora o
T [STHR-aT 1 Ushed ®9 T 41 G450 &9 9 oid 89 |

MU AT :  (a) F HigelU (e 2 |

(b) |t foreyas et €1

frrend i) g ded el fe ¥
(i) 9t forerss AfgaTd 72 € |
(iii) FS T e Afeand €1
(iv) TS Afgemd Hadi ¢ |

e

Options:

91394284701, (l) aﬂ-{ (l‘.l)

Q1294254702 (“') a:ﬁ-{ (LLI'.)

Q12942547032 ([) aﬂ_{ (IV)

Q1394254704 (I_Ll) aﬂ-{ (IV)

Question Number : 27 Question Id : 91394321566 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
In which of the following arguments the conclusion can be no more than probable ?
Options:
Implicative
91394384705, P 1€

a1394334706 L 2Nalogical

91394384707, Deductive

91394384705 Lemonstrative

Question Number : 27 Question Id : 91394321566 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

freferfiaa § 9 fg a5 4 frewd Surea 9 stfusr =@ 21 el €2

Options:
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291234584706,

91334584707, (H A

UeYcHh
Q12942847 08.

Question Number : 28 Question Id : 91394321567 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
“To slow a beast, yvou break its limbs.

To slow a nation, you break its people.”
- Identify the argument involved in the above :

Options:
91394384709, INductive

91394384710, Deductive

IC
91394384711 Analogical

91394384712, Demonstrative

Question Number : 28 Question Id : 91394321567 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
ot et 9y 1 Tfd AfEH F & AU 2119 39F 3 Fi died € |
Tt T2 1 WOId T o ToT0 3119 =@l & i § &) Scdd #id e |

3T | Hf=fed deh g
Options:

HATHATHR
91394384709, ¢

91394384710, |1 1ATICH

215942584711, H|%?¢“"~'Hch
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29153394258471%.

Question Number : 29 Question Id : 91394321568 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
“The relation that exists between Premises and Conclusion is that of logical necessity” - is the
case with which of the following arguments ?

Options:

91234584713, Inductive

91394384714, Deductive

91394384715 Lemonstrative

a1394384716, AANalogical

Question Number : 29 Question Id : 91394321568 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
“ sreETeR SR TSR & 7 TaRme Sy aifthes STavasRdl € - 9 e fAefaied # 9 g 96
HRae?

Options:
[
91394384713, SITHICHEh

[

91394384714, |1 IHAIHh

41394384715, AXRIMICH

91334584716, N |%?‘3-||T"|°h

Question Number : 30 Question Id : 91394321569 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
Among the following statements, two are contradictory to each other. Select the code that
represents them.

Statements : (a) All surgeons are doctors.
(b) Some surgeons are doctors.
(c) Some surgeons are not doctors.
(d) No surgeons are doctors.

Code :

Options:
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91394384717, V7 B e

(a) and (d)

9153342584715,

(b) and (d)

B91334584719.

(b) and (c)

91334584720,

Question Number : 30 Question Id : 91394321569 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

frefafaa wemi § < w9 Th g & TR foled €1 2= Fsfua &3 aren $2 9 :

HIF : (a) O vAfafhas fAfeds €
(b) F© TeArafHs fafhds €|
(©) T UAHfHEH fafhas & € |
(d) = Vafafmas fafeas T € |

e

Options:

91594384717, (ﬂ) aﬂ_{ (b}

9129423584718, (a) aﬂ-{ (d-)

91394=284719. (h) a:ﬁT (d-)

Q1394z284720. (b) aﬂ-{ (E)

Sub-Section Number: 4
Sub-Section 1d: 9139431154
Question Shuffling Allowed : Yes

Question Id : 91394321570 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (31 to 33)
Cuesticon Label | Comprehension



[TWW.prepg.in Monday Tuesday \
Time Distance Time Distance Time Distance
Cab (Hours) (kms) (Hours) (kms) (Hours) (kms)
A 16 656 12 480 10 410
B 10 700 14 490 18 720
C 11 770 13 650 16 640
D 12 744 15 825 14 840
E 14 826 14 728 12 840

The table given above gives the number of kilometers travelled and the number of hours
taken by five cabs A, B, C, D, and E. Data on three days is given - Monday, Tuesday and
Wednesday.

Use the above data to answer the questions given below.

Sub questions

Question Number : 31 Question Id : 91394321571 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

The average speed of cab A for the three days taken together is approximately :
Options:

91394384721, 10 km/hr

a1594354722. 20 km/hr

30 km/ hr

91334584723,

91394384724, 2V km/ hr

Question Number : 32 Question Id : 91394321572 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
The difference between the average speed of cab C and cab E on Monday is :

Options:
91394334725, 11 kms/hr

91394384726, 21 kms/hr

U o - N
91594384727, 31 [\[Tlhfhf

41 kms/ hr

2153342584725,

Question Number : 33 Question Id : 91394321573 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



q;quewwgpp.ﬁ’wong Marks: 0

Which cab travelled the most in the three days taken together ?

Options:

91394384729, D

91334584730, C

91334584731, D

91334584732,

Question Id : 91394321570 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

E

Question Numbers: (31to 33)
Juestion Label - Comprehension

HHER TR ECEL
I ELl I Ll g Ll
e (R H) | (fRHE.H) | (s=kiHE) | (FdL®) | (&H) | (. F)

A 16 656 12 480 10 410
B 10 700 14 490 18 720
C 11 770 13 650 16 640
D i 744 15 825 14 840
E 14 826 14 728 12 840

Your Personal Exams Guide

IUY difcie H I & fhamiet 3R &4 A, B, C, D, 3R E g1 4MHaR, Hear iR g9ar &l ad
U 77T 53] T &N T |
IUYF ATdhel 1 STAN Hd U < S T Y94i o S <ferg |

Sub questions

Question Number : 31 Question Id : 91394321571 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Fel TRt & ‘A’ &1 @ Teai @1 3irad Tifa e g

Options:

10 TeReATHTeT i e

2915334284721,

20 fRaATHT 9fd e
30 ferardTeT gfd se

91334584722,

215942584725,



WWW.prepp-lfy) fepeiretet wfd sel Froee

91334584724,

Question Number : 32 Question Id : 91394321572 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

HIHAR & el C 3 Fd E &1 379d 7fa | foran sfaw 22

Options:

91394384705, 11 TehIHIZY HId =]

21 TohemTe wfd e

91334584726

31 e 9fd Sel

B1334584727.

91394384725 21 [CAHIZ JId =

Question Number : 33 Question Id : 91394321573 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
I e § fh9 e g waitae gl a9 i 718 ?

Options:

91334584729, B
91334584730, C

91334584721,

91334584732, B

Sub-Section Number: 5
Sub-Section 1d: 9139431155
Question Shuffling Allowed : Yes

Question Number : 34 Question Id : 91394321574 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
Which of the following diagrams indicates the best relation between India, World and
New Delhi ?

Options:



Www.prepp.in rrepp

912334584733, -

©

=/

91334584734, -

/“\

m\

O O

91334584735, O

O
O/

2159425847356,

Question Number : 34 Question Id : 91394321574 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

fratafaa § 9 fog wafas ¥ vra, fava 3ir 72 fooodt & == wdiaq da4y 1 Fefua fHa g2

Options:

913942354733, \\“)
&

91394284734, ‘/
L O

V1394284735, G
)
l.if' '\.zl

913942354736, B

Question Number : 35 Question Id : 91394321575 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Which of the following diagrams best represents the relationship between, family, family
member and domestic help ?
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T

N SN
91394384737

il

91394384738, \‘

A

i@ 9
91394384739, S

o O O

91334584740,

Question Number : 35 Question Id : 91394321575 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Fefafaa § § e =g § 9RER, I iR e A/ Al & a9 HeY % Jarad €9 4
frefua fa T 22

Options:

91334584737,

2159425847358,

O
O

91334284739,

(O O
91394384740,

Question Number : 36 Question Id : 91394321576 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Which one of the following is not a Network Topology ?

Options:
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913943 o e

91394384742, Chain

2159425847435, Bus

91394384744, Star

Question Number : 36 Question Id : 91394321576 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

frefefad ° 9 -5 T2 gitefa (SrmErst) T8 €2

fa

2153342584741,

91334584742, |
91334584743, K

91334584744, SR

Question Number : 37 Question Id : 91394321577 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Match the following :

List - I List - II
i)  Outlook
i) DOS

iii) Internet Explorer

a) Browser

b)

c) Operating System
1) E-mail

The correct code is :

B 9 9

91394354745, (1) (iﬂ) (”) (iV)

(
( Programming Language
(
(c

iv) Fortran

91334584746, (II_I'.) ([V) (I_I'.) ([)
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91334584747, Your Personal Exams Gulde

2915334254745, (IV) (I'.I_I'.) (LI'.) (1)

Question Number : 37 Question Id : 91394321577 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Tr=ferfaa = faem 1
T - 1 10
(a) ISR
(b i e
(c) smgEfen faweeq
(d) 3-T
EEETES
(@) (b) (c) (d)
s () @) ) ()

912334584746, (LI'.I'.) (I'.V) (I_I'.) (l)

91394384747 (i) () (@v) (D)

913345847458,

Question Number : 38 Question Id : 91394321578 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



(a) Hub
(b) Bridge
(c) Router
(d) Gateway
(e) Modem
Code :

Options:

(e) only
91394384749, :

(a), (b) and (e)

91334584750,

(b), (¢), (d) and (e)

91334584751,

91394384755 (a), (b), (¢), (d) and (e)

Question Number : 38 Question Id : 91394321578 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

frAfafEd H§ 9 ShiH-41 52312 Bedal AYIHdIs shl <90l g 2

91334584749, ((-_‘)

(a), (b) 3R (e)

91334584750,
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91234584751,

0), (d) 3 (e)

9133458475%2. (El), (b)f (

Question Number : 39 Question Id : 91394321579 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
A set of rules used in communications in a network is called :

Options:

91394384753, INterface

B =
91394384754 L TOtOCOL

91394384755, Address

91394384756, Reference

Question Number : 39 Question Id : 91394321579 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
T 929 & GUu0 § Ygad i & T9=99 61 Fel Il © ¢
Options:

91334584753, :
91334584754, I”!ll g

91334584755, " ?‘
TR

91334584756,

Question Number : 40 Question Id : 91394321580 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Which of the following are pointing devices ?

(a) Trackball (b)  Touchscreen
(c) Graphic Tablet (d) Joystick
Code :

Options:



wWww.prepp.i , prepp
913943@4???9 (b) only

(a) and (d)

91334584758,

(a), (b) and (d)

91334584759,

s1394334760. (@) (D), () and (d)

Question Number : 40 Question Id : 91394321580 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Fefafad § 9 s[A-9 @i Ui g 2

Fad (a)
(a) 3R (d)

91334584757,

91334584758,

(a), (b) 3R (d)

912334584759,

(a), (b), (c) AR (d)

91334584760,

Question Number : 41 Question Id : 91394321581 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
A study was carried out on the drought resilience in India. Which of the following States

show highest level of handling drought ?
Options:

Telaneana, Andhra Pradesh, Tamil Nadu
91394384761

a13943347> Odisha, Karnataka, Kerala

91394334763 Sikkim, Punjab, Arunachal Pradesh



WWW.prepp.i ; - g e = prepp
9139 43§ 4?r5p£ Tharkhand, Chhattisgarh, Jammu and Kashmir

Question Number : 41 Question Id : 91394321581 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

IR H Y fefa v & 9 | ek s1eeA o ) fefaiad 9 9 fa v 8 g 9 feed =0
e TR SE T E 2

Options:
- T, Y e, g

21334284761

91394384762, O Fe9m, &leeh, Hld

91504354763 [TIFRH, TSI, STEUTHA Yol

91334584764

Question Number : 42 Question Id : 91394321582 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
The most harmful types of environmental puﬂutants are :
Options:

- r.- = . Ir- 2] 2
91394384765 Human organic wastes

Ir I.'| L-| ] = l,_»
915394584766, Wastes from faecal matter

a139438476> INon-biodegradable chemicals

- - . .l -1 . . - al
91394384765, Natural nutrients present in excess

Question Number : 42 Question Id : 91394321582 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

qaTYe BN JAEg Ygue ¢ :
Options:

o) ¢
91394384765, MG Sd HAYH

fawal 51 319ad

2153394254766,
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1334584767,

Thides e dedi a1 e

91234584768,

Question Number : 43 Question Id : 91394321583 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Assertion (A) : Natural gas is a very attractive eco-friendly fuel.

Reason (R) : It produces few pollutants and less carbon dioxide per unit energy than
any other fossil fuel on combustion.

Code :
Options:

1394384760 DOth (A) and (R) are true and (R) is the correct explanation of (A).

o1304384770. DOt (A) and (R) are true and (R) is not the correct explanation of (A).

91394334771 (A) is true, but (R) is false.

s1394384772 (A) 18 false, but (R) is true.

Question Number : 43 Question Id : 91394321583 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

ATURIT (A) :  WIHfash 119 9gd AHYF JAE-a9 369 T |

WHIT (R) : S e o I (Rl 7 SAd S99 i 37U HH Ygueh dcd AR Ufd e
Fuil H &0 FE SHSATFEe S0E Bl ¢ |

he

Options:

91394384769, (D) R (R) SHi TEl € 3R (R), (A) F G ARAT € |
(A) 3T (R) SFI T&l € 3R (R), (A) 1 Tl =M1 T8 © |

91334284770,

(A) W@l &, =g (R) TTeTd €|

91334584771

 (A) T T, R (R) W T

91334584772

Question Number : 44 Question Id : 91394321584 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



YWWMHRAERRHIage of energy coming from the Sun is re-radiated towards ME%E:EE ?

Options:

10

913942354773, 15%
25%

21394284774,

30%
913943847 75. 30 %

0
B133458477E, 20 %

Question Number : 44 Question Id : 91394321584 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
g4 Y ITYA ol o1 oo Hiaqera sfdfel § g fafwfia 2 272

Options:

—.
9139438477 3. 15%

VP59
91394384774, 25%

L | ]
91394384775, - 0%

%
91394384776, 20%

Question Number : 45 Question Id : 91394321585 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
As per Central Forestry Commission (CFC), how many forest types are found in our

country ?
Options:

215334284777,

91334584778,

91334384773,

91334584780, 16

Question Number : 45 Question Id : 91394321585 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

215334284777, 15

91334584778,

912334584773, 28

91334584780, 16

Question Number : 46 Question Id : 91394321586 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

The number of open universities and directorates of distance education whose courses are
recognised by UGC as on August 9, 2018, is :

Options:

1 C
2159425847851, 49

()
r..p' J

215942584782,

B1334584783. o8

91334584754, 62

Question Number : 46 Question Id : 91394321586 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

9 3FTH, 2018 i Fefq & SATHR 3751, §F1 J=Ia1 e g3y e Feemeri oI gaa favataene
"ﬂﬂﬂ'@ﬂ%

Options:

qC
B91334584781. 4%

]
r-.. J

1334584782,

91334584753,

62
91394384784,

Question Number : 47 Question Id : 91394321587 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Match the following:

List - I List - II
(a) Open University (i)  Odisha State Open University, Odisha
(b)  Dual Mode University (if)  Amity University
(c) Mixed Mode University (iif) Indian Institute of Science, Bengaluru
(d) Deemed University (iv) University of Mumbai, Mumbai
(e) Specialised University (v)  School of Planning and Architecture, New Delhi

Options:

91394384785, (i) (i) (v) (1) (iv)
91394384786, 0 (v) (1) (D) (v)
91394384787, (v) (@O (v) () (i)

o139438478z, W) () (0)  (iv) (V)

Question Number : 47 Question Id : 91394321587 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

freifera =1 gaferd & -
T - 1 = - 11
a) T Tavaie=me™ i)  Aifewm W g favafeaame, sfem

(

(i) UHS feavafa=e
c) Tufya ey favafaame (iii) YA fom 95 H, STdE

(

(

(
(b) & EEY fovafaaed
(

| anltl e

iv) Heg favafamm, qes

GV ECREECIEHIGE
(

e) Tovrzar urd farvafer=mer v) TTarem wd e faamed, 15 el

Options:

o1394384785. W) (@) (v) () ()
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2912334584757, (V) (l) (IV) (I_I'.) [:I_LI'.)

91334584758, (I_I'.) (I_LI'.) (1) (IV) (V)

Question Number : 48 Question Id : 91394321588 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Which private institutions in the following list have been granted the status of ‘Institutes of
Eminence’ by the MHRD ?

(1) BITS, Pilani

(ii) MAHE, Manipal

(iii) ~ Symbiosis, Pune

(iv)  Amity University, Noida

Choose the correct answer from the code given below :
Code :

Options:

(1) and (ii)
Q13942547 89.

(i) and (iii)
91334584730,

(ii) and (iii)
91294254791,

(i) and (iv)
Gl13a4284792,

Question Number : 48 Question Id : 91394321588 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

. ue. AR g Frefefiaa gt d Sh-d wrgde e wit sFfeare e oive 2o fi =il
fmER?

(i) dred (e Aem,), ferh
(i)  UH.LEE.E., i

(iii)  ferarifia, oo

(iv) ufedt gfafid, T

= fqu Mo Fe # @ | I g
w2

Options:
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) U (i)

(1) U4 (iii)
91394384790, ™

(ii) TS (iii)
91394384791 «

(ii) UF (iv)
91394384792, «

Question Number : 49 Question Id : 91394321589 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
One of the first states to establish a higher education council was :

Options:

| Sikkim

91334584733

Goa
91394384794,

- o .
91394354795 AAndhra Pradesh

01304354705 Jammu and Kashmir

Question Number : 49 Question Id : 91394321589 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
ool Toreqr uftue sl ST 3 9Tl 98l T4 4 9 T @

Options:

913345354732, IEI hy
913345847394, “

91334584735, S 3

S SR I

2153342547396,

Question Number : 50 Question Id : 91394321590 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
State higher education councils are established under the instruction of :
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NITI Ayog
41394384797 .
41394384798, RUSA
41394384799, CABE

B =
91234584800, PUSA
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Question Number : 50 Question Id : 91394321590 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 WrongMarks: 0

T Seaad e uiieg ol w191 fohdeh 3Te¥ o =rid 2Idl © 2

Options:

9123345847397, l |~3:|'|?f|11

9133458473958, &

U HE.

91334584799

kil

91334584800,

Paper 11
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Group Id : 913943284
Group Maximum Duration : 120
Group Minimum Duration : 120
Revisit allowed for view? : No
Revisit allowed for edit? : No
Break time: 0
Group Marks: 200
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Section Id : 913943284
Section Number : 1
Section type: Online
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Number of Questions; 96
Number of Questionsto be attempted: 96
Section Marks: 200
Display Number Panel: Yes
Group All Questions: No
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Sub-Section Number: 1
Sub-Section 1d: 9139431156
Question Shuffling Allowed : Yes

Question Number : 51 Question Id : 91394321591 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Who has defined Physical Education as “Physical education is education through physical
activities for the development of the total personality of the child and its fulfillment and
perfection in body, mind and spirit” 7

Options:

91394354801 J.P. Thomas
91304384802, O Buck

91394384503, © 0 Nash

91394384504, O Bucher

Question Number : 51 Question Id : 91394321591 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

fererr wmftfeas frem it g1 weer whenfia foen 2 for “nfife foren o= % oo safeaes fama otk
wilie, wierss 9 sarean & gaeht gufd ot gofar o foro it wfafefert % mream & € d e 87 2

Options:

91394384801, 0. ahrg
91394384802, A =
91394384803, 3.
913943845804, H.T. I

Question Number : 52 Question Id : 91394321592 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

In which of the following year were the Olympic games not boycotted by member nations ?

Options:
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_
91394384808, 1002

_
91394384807, 1000

91334584808, 1964

Question Number : 52 Question Id : 91394321592 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Frafafiga © @ frm af o geo wedl gro sicifuss @et & afeser 78 fem mn o 2

Options:

2915334254805, 1936

2913345854806,

91334584807,

2153942548085, 1964

Question Number : 53 Question Id : 91394321593 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Which of the following is the most rapidly available source of energy within a muscle fibre ?

Options:
Glycogen
Q1294254509
91394384510, Creatine Kinase
Phosphocreatine
Q1294254511
Phosphorylase
Q1394254512 phory

Question Number : 53 Question Id : 91394321593 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Freafafiaa 4 & s fedt Wefta ag (wrga) o gaifis dfwam @ sra R Tt i a8 2
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91334554809,

forufen #rea

91334584810,

HIEpIfsHTfeA

21594254811,

FIE e

H9133455481%2.

Question Number : 54 Question Id : 91394321594 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

The forced vital capacity that can be expired in one second, is termed as

Options:

Maximum voluntary ventilation
91234554813,

Lung capaci
913942584814, § capacity

Functional residual capacity
91334554515,

Forced expiratory volume
91324584816,

Question Number : 54 Question Id : 91394321594 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
aeiehd Hew Ul G | U dehe | frvafia 6t o wwdt 2, Feardt 2

Options:

91334554813,

bk TR LG
912345545814,

91334584815,

A% fvaET A
91394384816,

Question Number : 55 Question Id : 91394321595 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

used when muscle spasm restricts joint movements.
215394284817,

used when active movement caused pain.
91334254518,

used when ROM is extremely limited.
91394254519,

used as a warm-up.
213942584820,

Question Number : 55 Question Id : 91394321595 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
afsa g fa=ma 2
Options:

s it smar w@fy dee it difa T R, 9 e dar R
91294384817,

afshd Gae 4 g4 B g | g dal g |
91394384818,

AR, * sreafos difia @9 6t gm d wga g 2
91394384819,

91394384820, -3 55 0 g e €|

Question Number : 56 Question Id : 91394321596 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

A eyclist moves in a velodrome of radius of 80 m. If the coefficient of friction is 0-25, then
the maximum speed with which the eyclist can take a turn without leaning inwards is
Options:

91394384801 14 ms

91394384500 18 M/S

91394384803, 18 Ms

91394384804 20 M8



Quagtion }Pmu@,ﬁﬁ Question Id : 91394321596 Question Type: MCQ Option Shuffling : Yes Display Question NER@{D{@s
Single Lirle Questio

n Option : No Option Orientation : Vertical Your Personal Exams Guide
Correct Marks: 2 WrongMarks: 0

T TT3fRe dree 80 . it fn ot wA (Seig) # e @ 1 afg wdu w6 e 0-25 &, @t
farr atgt 1 7R g g o Igeh stferman 1fd & gt B

Options:

91394384801 14 ms

91394384500 18 M/S

91394384803, 18 Ms

91394384804 20 M8

Question Number : 57 Question Id : 91394321597 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
Terminal feedback is the information provided to the learner
Options:

Before the activity
91394354825,

During the activity
91334354826,

After the activity
215394284827,

Both before and after the activity
91334254528,

Question Number : 57 Question Id : 91394321597 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Fferm gavfror fregneff +t form Shom & o areft st 2 2

Options:

Frfwem & gd

91334584825,

FrfFATT F 2
91394384826,

F®HAT & I7=q
91394384827
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Question Number : 58 Question Id : 91394321598 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Sociogram is a tool to measure

Options:

Cooperation among group members
91394254529,

Affiliation and attraction in the group
21394254830,

Performance satisfaction among team members
21294254531,
91394354832 Tazk orientation in the team

Question Number : 58 Question Id : 91394321598 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

o rer@ (g frefafar d @ o s aem 2 2

Options:
TR & HEEAl & d9 TreHe

913943224829,

o Geagan aUT SR
91394384830. A

% weEat o o wd wqfe
91394384831 A

% wrf sfirgefte
91394384832 o«

Question Number : 59 Question Id : 91394321599 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Which is the first coaching scheme sanctioned by Government of India in 1953 ?
Options:
Raj Kumari Amrit Kaur
91394354835,

National Coaching Scheme
21394254534,
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Special Area Games Scheme
913942354536,

Question Number : 59 Question Id : 91394321599 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

T TR g0 9 1953 % Tt Freafafiga # @ st weeft Sifam atemn
27

Options:

TS FATE 31ga wR
91394384133,

91234554824,

TS TeH eeie T ThH
91394384535,

e Tt =hie
91394384836, e

Question Number : 60 Question Id : 91394321600 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
The first Padma Shri Award in Physical Education was conferred to

Options:

Prabhakar Vaidya
21394284837,

Karan Singh
91394384538,

Gursewak Singh
91394354839

P.M. Joseph
91334354340,

Question Number : 60 Question Id : 91394321600 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
it favem & ween vt gresn foelt firem o 2
Options:

91334584837, =
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T i

91334584829,

4 wH. FEE
91394384840,

Question Number : 61 Question Id : 91394321601 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

The time from receipt of infection to the development of a positive tuberculin test ranges
from

Options:

91394384541, | 102 weeks

91394384842, © W0 6 Weeks

91394384543, | © 10 weeks

_
91394384544, 12 to 15 weeks

Question Number : 61 Question Id : 91394321601 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Hehwut g4 3 ifafea symget witem & fawfaa &9 % de o aren ww g 2
Options:

149 2 gedrg
91394384841

3% 6 H A
91394384542,

7 10 g1
913943845843,

129 15 9dre
91294384544, 7

Question Number : 62 Question Id : 91394321602 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

For obesity control, Ketogenic diet emphasises

Options:
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91394384546, | roteln restriction

91394384547, 1 ot restriction

Therapeutic fastin
Q]1394254848, pe 8

Question Number : 62 Question Id : 91394321602 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
gterq e % foe e amen & 9 R w e & 2

Options:

Fraargee HifufaeRo

91334554545,

91334554846,

912334554847,

9123345854845,

Question Number : 63 Question Id : 91394321603 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

With reference to specificity of training, a long jumper should go for

Options:

Plyometrics
91334354549,

Uphill running
912334554850,

Full Squats
91394384851,

Cyclin
91334554852, yeme

Question Number : 63 Question Id : 91394321603 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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cerE AT

91334554549,

&g A s e

2153394284850

qui da
91394384851,

arafaam

912334584852,

Question Number : 64 Question Id : 91394321604 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

The pace of recovery is different for various organs, tissues, ete. This is called

Options:

Hypochronicity of recove rocess
91394254852, ¥ w P

Alfachronicity of recove rocess
Q1394254554 W P

Heterochronicity of recov rocess
Q1=294=2548E55. W .

Hyperchronicity of recove TOCess
912394254856, ype v g

Question Number : 64 Question Id : 91394321604 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
fafira oiti, Serent, genfe & way & it fe srem-srem gt 2 | 78 Feardt 2

Options:

gy B4 it ufsran i grgaifad

91334554853,

e B+ Bt gfsran 6t AewmRiHTadT
91394384854,

ey B4 i wigr Fr g

2915334254855,

ey B4 i wfge i srguEhiHEd

21594254856,



Quagtion. reesD:. iy Question Id : 91394321605 Question Type: MCQ Option Shuffling : Yes Display Question ﬁ&pps
SingIeLirE’Qu@on Option : No Option Orientation : Vertical I'm
Correct Marks: 2 WrongMarks: 0

Phase of evaluation which establizshes the authenticity of the source is called

Options:

91394384557, 1nternal criticism

913943g4g5g, Critical criticism

91394384559, Lxternal eriticism

913943g4g60, cductive criticism

Question Number : 65 Question Id : 91394321605 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Qe 1 a8 J01 S | R wrEfrRar wurfid et 2, Saera 2
Options:
91394384857, 0 et

91234554855, &

ATA=
91394384859 ™

91234554860,

Question Number : 66 Question Id : 91394321606 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

The following observations have been arranged in ascending order. If the median of the
data iz 67, the value of x will be :

19, 31, 47,51, x, x + 2, 73, 80, 86, 118

Options:
5
91:94284561.
91-94384562. 66
69

2153342548635,
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Question Number : 66 Question Id : 91394321606 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Frferfiaa Semr it AE sea d sgafem fem mn & | 3fe sAfwst it wiferm 67 8, @t x 1 91
BT

19, 31, 47, 51, x, x + 2, 73, 80, 86, 118

Options:

91334584861, 65

H1334554862. 66

291234554863, 69

91334554564, 68

Question Number : 67 Question Id : 91394321607 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Two groups that are known to differ significantly on the variable and when administered a
test, a significant difference is obtained, then the test will have

Options:

Content Validity
213942545865,

Concurrent Validity
91594384566,

Construct Validity
913942354867,

Face Validity
21394254568,

Question Number : 67 Question Id : 91394321607 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

&t g fard = w et ST @ oftt e 3 W A e fean e, ot i ofe W g @, 99 3w
e 7 gt

Options:

fowa_aeq duan
91394384865, R
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91334554867,

91334554865, b

Question Number : 68 Question Id : 91394321608 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

If a student won the class Badminton Ladder Tournament but did not score well on the
battery of Badminton Skill Test, then the test lacks

Options:

Reliability
91394384869,

Validity
91294384370,

Objectivity
91394254571,

91394384872, Norms

Question Number : 68 Question Id : 91394321608 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

afg ot @ 3 v Asfires St @hte Sftan, sfea dsfies tve oo f 2 w3093 woa=
ar=e 81 &, ot whter § fohoet svma B 2

Options:

913345545869,

91234584870,

91334584871,
912334584872,

Question Number : 69 Question Id : 91394321609 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
State Sports Associations differ from National Sports Bodies in
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91394384873, | unction

91394384574, 9 unsdiction

Objective
91394354875,

913945334576, Constitutional Status

Question Number : 69 Question Id : 91394321609 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

st % we oy Frafafaa | @ ot iy ge Femi 8 s g € 2
Options:

2159425848735, w

2915334254874,

215942584875,

215334284876,

Question Number : 70 Question Id : 91394321610 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

In Lesson plan, the percentage of time devoted to recreational part before dissmissal of class
should be

Options:

30 percent
91394384577,

25 percent
91394384578,

20 percent
91334354879,

15 percent
B91334554880.

Question Number : 70 Question Id : 91394321610 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

215942584877, 30

91394254575, 25

91334258457 3. 20

91394354350 15
Sub-Section Number: 2
Sub-Section 1d: 9139431157
Question Shuffling Allowed : Yes

Question Number : 71 Question Id : 91394321611 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Which of the following is/are correct about the evolutionary theory of play ?
(i) Spencer iz the main supporter of this theory.

(ii) Surplus energy theory given by Piaget explains the child’s playing due to
manifestation of his inner energy.

(iii) Theory of evolution was given by Charles Darwin.

Choose the correct answer from the code given below :

Code :

Options:

Only (iii) is correct.
21294254581,

Only (ii) and (iii) are correct.
91394254582,

Only (i) and (iii) are correct.
91394254583,

All (i), (ii) and (iii) are correct.
21394254584,

Question Number : 71 Question Id : 91394321611 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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(i) w3 faga =1 wE awnds 2 |
(i) forarst = atfism ot faga ==t & g & vl Iod Sl St SRR FEvd FEa & |

(iii) Sferhra =1 frgra =red sifea 3 feam an |
A3 Ry e g % 3 Wl A g

C T

Options:

91304384881, T D TAL
91394384882, e (if) 3 Gi) W § |
91394384883, Faret () St (i) et € |

gt (i), (ii) #H (i) |
91394354854, i i) T &

Question Number : 72 Question Id : 91394321612 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
Which of the following are correct about the Ancient Olympics ?
(i)  Ancient Olympics were conducted for five days.
(ii) Games were held only at Olympia in Greece.
(iii) Each Olympiad was named after the winner of 400 yard race.

(iv) Individual sports were the only events.
Choose the correct answer from the code given below :

Code:

Options:

Only (i), (iii) and (iv) are correct.
913942354585,

Only (i), (ii) and (iv) are correct.
21394254586,

Only (ii), (iii) and (iv) are correct.
1594384557,

Only (i) and (iii) are correct.
91394254588,

Question Number : 72 Question Id : 91394321612 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



AVRERBR R P # & 93w # 2 preep
(i) W= e e fem oo wad & |

(i) @ fad e % il & smifoa g @ )

(iii) Wedeh SIS St A9 400 1S <1 % Fersian & T 9 T@n Srar o |

(iv) T saframa e weafd gt of |

fr= few e e § | wdt I W g

®e:
Options:

Fad (i), (iii) 3 (iv) |
Q1294284885 v Ml a HE"['E

Fad (1), (i) 3 (iv) |
Q1 294284886, athe v H'&ﬁﬁ

FAe (ih), (idi) 3 (iv) I
913943584857, wh iv) T §

91394384258, T () 3 (i) TR

Question Number : 73 Question Id : 91394321613 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Which of the following are considered as over-use injuries ?
(i)  Muscle strain
(ii) DBursitis
(iii) Shoulder disloeation
(iv) Muscle soreness
(v) Stress fracture
(vi) Tennis elbow
(vii) Ankle sprain
Choose the correct answer from the code given below :
Code:
Options:
(1), (iii) and (vi)

91234554889,

(ii), (iv) and (v)
2915334254830,

(iv), (vi) and (vii)
Gl13a4284591.
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Question Number : 73 Question Id : 91394321613 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Freafafaa 4 @ feg wif wgea <t s sman 2 2
(i) et g

(ii) Rt 6 g

(i) % 1 fereamaa

(iv) weft =y

(v) gara favm

(vi) 2fa et

(vii) @ & F919

®e:
Options:

(), (iii) 371 (vi)
91394354889,

(id), (iv) #H (v)
91394384890,

(iw), (vi) 31 (vii)
913943584891

(i), (v) 3 (vi)
Q13942584592

Question Number : 74 Question Id : 91394321614 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Myofilaments are present in each skeletal muslee fibre in significant number and each
myofilament consists of

(i)  Myoglobin

(ii) Troponin

(iii) Tryptophan

(iv) B actinin

(v) Thyrotropin

(vi) M. Protein

Choose the correct answer from the code given below :
Code :

Options:
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(i), (ii) and (iv)
9133455458594,

(ii), (iv) and (vi)
9123345548395,

(ii), (iii) and (vi)
2153394254856,

Question Number : 74 Question Id : 91394321614 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
ﬁm{m)mﬁﬁmmﬁmmﬁﬁmmmﬁﬁ
(i) AT
(i) gt
(i) feeetea
(iv) g UfFefm
(v) ﬂ'ﬁﬁﬁﬁ?

(vi) TH. HéH
4 R ¢ g2 § A I R IR

®e:
Options:

(1), (iii) 37 (v)
91394384893,

(i), (ii) 3 (iv)
913943845894,

(id), (iv) 3 (vi)
91394384895,

(i), (i) #H (vi)
91394384896,

Question Number : 75 Question Id : 91394321615 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Wy W%Rppu}former, movements of the limbs other than in symmetry away from the 'relpmpd
anatomical reference position result in a misalignment between the body’s

(i) Centre of gravity

(ii) Cardial axis

(iii) Gyration

(iv) The principal axes of inertia

Choose the correct answer from the code given below :

Code :
Options:

(1), (i) and (iii)
91334584897,

2153342548395, (@ and (i)

(ii), (iii) and (iv)
913345254899,

(ii) and (iv)
2913345854900,

Question Number : 75 Question Id : 91394321615 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
w flgerdt % foru wrfife wieed feafa & g dqem @ o vl = o & d=e @ i & foefofiaa & @
ferast srogee I EtaT 2 2
(i) oSy
(ii) ST g
(iii) gofA

(iv) Sgra & WU g
= fiw mu 52 4 & ot I W g
C T

Options:

91394384897 D, i) 3R i

(i) ¥ (iii)
91394354898,

(id), (iii) 3T (iv)
91394384899,

(i) 3 (i)
91394384900,



S e 1. S Z1E18 Qusian Type: MCQ Option Shufling: Yes Display Queson (RGP .
Correct Marks: 2 WrongMarks: 0

Gliding joints, in which only slight gliding movement oceurs, are also known as

(i) Irregular joints

(ii) Biaxial joints

(iii) Plane joints

(iv) Uniaxial joints

(v) Saddle joints

Choose the correct answer from the code given below :

Code :
Options:
(1) and (iii)
Q1294254901
(i) and (iv)
Q1294254902
(iii) and (v)
Q152942584903
(iv) and (i)
Q12942549304

Question Number : 76 Question Id : 91394321616 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

wrgfen aftrat i, foad Fae geht wisfen $i T ufea 2t 8, Frafafiaa © 4 fem am & ot 9=
AT B ?

(i) soger @y
(i) =rgufFaae wfy
(iii) o Hfa
(iv) Firefarre |fy
(v) &z gfa
fr= few o g2 & B wdt I H g
e
Options:
(1) ¥ (iid)
91394354901
(i) 31 (i)
91394354902,
(iii) 3T (v)

2153342543035,
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Question Number : 77 Question Id : 91394321617 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Stages of motor learning are
(i) Physical phase
(ii) Cognitive phase
(iii) Associative phase
(iv) Emotional phase

(v) Autonomous phase

Choose the correct answer from the code given below :

Code :
Options:

(i), (ii) and (iv)
9123345543905,

(ii), (iii) and (iv)
1294254906,

(ii), (iii) and (v)
91394284907,

(1), (v) and (iv)
Q1=2942584908.

Question Number : 77 Question Id : 91394321617 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

it sferm 3 =0 §
(i) i waEn
(ii) HHHETEHS HaET
(iii) Hrg=d SraE
(iv) YTeTed STaee

(v) T HEET
fr= e 2 # & @ I H g
Hhe:

Options:

91394384905, 0, ) 3 iv)

(i), (iii) 3 (iv)
913943543906,
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91394384907,

(@), (v) 3 (iv)
91394384908,

Question Number : 78 Question Id : 91394321618 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Consequences of cohesion are

(i) Team harmony
(ii) Team motivation
(iii) Team success
(iv) Team building
Choose the correct answer from the code given below :
Code:
Options:

(1) and (1i1)
91334554909,

(iii) and (iv)
Q1294254910

(1) and (1iii)
91334584911,

(ii) and (iv)
913294354912,

Question Number : 78 Question Id : 91394321618 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
g % i §

(i) T gaETa

(i) e AR

(1i1) o7 HReAdT

(iv) ga fmfor

1% fiw o g # @ T S R SR

He:
Options:

(i) 3 (i)
91394354909,

(iii) 3 (iv)
91394384910,
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91394384911,

(ii) ¥ (iv)
91394384912,

Question Number : 79 Question Id : 91394321619 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
The organisers of sports competitions should ensure that
(i) The host team is placed in easy pool
(ii) Ideal facilities for competition are available
(iii) Appoint such officials that favour the host team
(iv) All participants get an equal opportunity to win
Choose the correct answer from the code given below :
Code :

Options:

2159425849135, () and (1)

(ii) and (iii)
Q1594284914

(iii) and (iv)
Q1394254915

(ii) and (iv)
Al12ad4254916.

Question Number : 79 Question Id : 91394321619 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Wiz SR % v F g gRfE we i
(i) HHAGH g6 i A g § W@
(i) wfertfirar % fore amest gfeurd Iues &
(iii) W& rferprfert it Frgfem @t <t fom ga Hawm g
(iv) w¥ft sfasfirat =t St =1 @ sae fae

fr= few o g2 & B wdt I H g
e
Options:
(1) 3t (i)
91394354913
(i) 37 (iid)

91334554914,
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91394384915,

(ii) 31 (iv)
91394384916,

Question Number : 80 Question Id : 91394321620 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Curriculum encompasses

(i) Learning environment
(ii) Teaching methods
(iii) System of assessment

(iv) Assessment of teacher
Choose the correct answer from the code given below :
Code :

Options:

91394384917, W and @

(ii), (iii) and (iv)
Q1294254918

(1), (iii) and (iv)
91334554919,

(i), (ii) and (iv)
91334584920,

Question Number : 80 Question Id : 91394321620 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

gt (SHitwgem) # e &
(i) afenmy SraTEm

(i) Fareror <6t farferat
(iil) TR Tgf
(iv) Tirers 1 i
Hr= R mu 52 & & Tt I+ g
Hhe:
Options:
91394384917 0, i) e Gi

(ii), (iii) 3 (iv)
91394384918,
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91394384919,

(1), (i) 3 (iv)
91394384920,

Question Number : 81 Question Id : 91394321621 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

vt v uferss it 3oy srdsftea i faem St s g 2
(i) G TETEey

(i) ffe-F

(i) sr=dt feufy (waey)

(iv) geead HrEsfte T

fr= e 2 # & @ I H g

T
Options:

(i) 3 (id)
91394384921,

(ii) 3t (iid)
91394384922,

(ii) 3 (iv)
91394384923,

(i) 3T (iv)
91394384924,

Question Number : 81 Question Id : 91394321621 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
The notion of perfect functioning of body and mind is a state of
(i) Positive health

(ii) Standard of living
(iii) Well being
(iv) Optimal functional level
Choose the correct answer from the code given below :
Code:
Options:

(i) and (ii)
913345384921,
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91394384922, e

(i) and (iv)
Q1394254923

(i) and (iv)
91394254924,

Question Number : 82 Question Id : 91394321622 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
Obesity iz a combination of
(i) Adipocytes counts
(ii) Fat content in cells
(iii) Free fatty acids
(iv) Cholesterol level
Choose the correct answer from the code given below :

Code :
Options:

(i) and (ii)
91334584925,

(ii) and (iii)
Q1=29425492E,

(i) and (iv)
13942584927,

(i) and (iii)
912334584925,

Question Number : 82 Question Id : 91394321622 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
sirere Fawfifaa & @ frear 3o & 2
(i) ufedtarses FEE
(ii) wifirRat 4 %e wde
(iii) At &t tftrgm
(iv) HieTETa Tt
2 R e e § @ IR IR

% :

Options:

(i) 3 (id)
91394384925,
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91394384926,

(ii) 31 (iv)
91394384927,

(i) #HT (iii)
91394384928,

Question Number : 83 Question Id : 91394321623 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Which of the following factors determine flexibility ?
(i) Strength
(ii) Coordination
(iii) Joint ligaments
(iv) Reaction time
Choose the correct answer from the code given below :
Code:
Options:

(1), (iii) and (iv)
91334584929,

(ii), (iii) and (iv)
91334554920,

(i), (ii) and (iii)
2153342545951,

(i), (ii) and (iv)
91334584932,

Question Number : 83 Question Id : 91394321623 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

e % Frafon fefefa da s @ g 2 2
(i) wfe

(i) aH~<=94

(iii) wfer sferea

(iv) Weg@ gqY

3 fw o g A @ @ IR TR

Hhe:

Options:

(1), (iii) 31 (iv)
913943584929,



i re
WWW.Prepp.-1R;, i) st (iv) rpp
91394384930,

(1), (i) 31 (iid)
91394384931,

(i), (ii) 37 (iv)
91394384932,

Question Number : 84 Question Id : 91394321624 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
Coordinative abilities primarily depend upon
(i) Skill
(ii) Motor control
(iii) Regulation process of Central Nervous System
(iv) Tactics
Choose the correct answer from the code given below :

Code:

Options:

(i), (ii) and (iii)
D1394254933,

(i), (iil) and (iv)
91394254934,

(ii), (iii) and (iv)
91394254935,

(ii) and (iii)
V1394254936,

Question Number : 84 Question Id : 91394321624 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

gu-aaTeeh auaTd gead: b w el gt § 0
(i) i

(ii) Trreeh e

(iii) gt Ty a7 R fafr fsen

(iv) Tt

fr= few me 52 4 | ot I+ g

C T

Options:
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), (ii) 37 (iii)

(), (iii) 31 (iv)
91394384934,

(i), (iii) 3 (iv)
91394384935,

(ii) 3 (iii)
Q1394284956

Question Number : 85 Question Id : 91394321625 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Degree to which a measure clearly involves the performance being measured is known as
(i) Logical validity
(ii) Content validity
(iii) Criterion validity
(iv) Construct validity
(v) Face validity
(vi) Predictive validity
Choose the correct answer from the code given below :
Code:
Options:

(1), (i) and (iv)
912334584937,

(i), (v) and (iv)
Q1294254955

(1) and (v)
91334584929,

(1), (iv), (iii) and (vi)
912334554940,

Question Number : 85 Question Id : 91394321625 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



(i) iR e

(ii) farg-asg dua

(iii) WY S

(iv) ST e

(v) &g duar

(vi) wlererarst duar

3 e e g2 § @ W SR TP

He:
Options:

(1), (ii) 3 (iv)
91394384937,

(1), (v) 3 (iv)
91394384938,

(i) 3 (v)
91394384939,

(i), (iv), (iii) 3 (vi)
Q1=394=254940,

Question Number : 86 Question Id : 91394321626 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

In a normal curve, the values of which measures are same ?
(i) Mean

(i) Mode

(iii) Standard deviation

(iv) Median

(v) Mean deviation

Choose the correct answer from the code given below :

Code :
Options:
(1), (iii), (iv) and (v)
21394254941,
(ii), (iii) and (iv)
V1394254942,

(1), (iD) and (iv)
91334554943,
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Question Number : 86 Question Id : 91394321626 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

amr-a sk 8 T afeamat s 9= g e 2 7
(i) ="

(i) wEeth

(iii) AT fererer

(iv) mTfee

(v) =req fawem

fre few o g2 & & wdt I w9

®e:
Options:

(i), (iii), (iv) 3 (v)
91394354941

(i), (iii) 3 (iv)
91394384942,

(1), (i) 31 (iv)
913943584943,

(i), (ii), (iv) 3 (v)
91394384944,

Question Number : 87 Question Id : 91394321627 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Basic components of Physical Fitness as per H. Harrison Clarke are
(i) Muscular Endurance
(i) Speed
(iii) Muscular strength
(iv) Cardio-respiratory endurance
Choose the correct answer from the code given below :
Code:
Options:
91394384345, and (i)

(ii), (iii) and (iv)
91334554946,
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(i), (ii) and (iv)
913345549458,

Question Number : 87 Question Id : 91394321627 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

v, #liee e o srgan it wareen & 0o uew §
(i) Ut e

(i) fe

(iii) eftar &7

(iv) Tgyagq wmfiea

Hr= R mu 52 & & Tt I+ g

He:
Options:

(1), (i) 37 (iii)
91394354945,

(ii), (iii) 3 (iv)
91394384946,

(1), (iii) 3 (iv)
91394354947

(1), (i) 37 (iv)
91394354948,

Question Number : 88 Question Id : 91394321628 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
The following sub-points are included in Educational Application :
(i) Physical
(ii) Spiritual
(iii) Social

(iv) Mental
Choose the correct answer from the code given bhelow :

Code :
Options:

(ii), (iii) and (iv)
91334554945,



WWW.Prepp.ify (i) and (iv) prepp
91394354950, Your Persanal Exam Guide

(1), (iii) and (iv)
91334584951,

(i), (ii) and (iii)
912334554952,

Question Number : 88 Question Id : 91394321628 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

S s # Prefam 39-frg v foe o &

(i) iR
(i) e
(iii) GmTRaR
(iv) HTftH
A e Mo e # @ 7 s H g
F:
Options:
(id), (iii) 3 (iv)
91394384949,
(1), (i) 3 (iv)
91394384950,
(1), (iii) 37 (iv)
91394384951,
(i), (ii) ¥ (iii)
91394354952,

Question Number : 89 Question Id : 91394321629 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 Wrong Marks: 0

Organisational chart for a College Intramurals

(i) Staff Supervisor

(ii) House Captain

(iii) Intramural Director

(iv) Team Captain

(v) College Captain

Choose the correct combination from the code given below :

Code:

Options:
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91394354953,

(1), (111), (iw), (1)
91334584954,

(1), (1), (iii), (w)
91334554955,

(1), (w), (i), (iv)
2915334254956,

Question Number : 89 Question Id : 91394321629 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Ficta Serele o forg weATenh =1
(i) WRIE wiays
(ii) 38 FeeA
(iii) FgrgEe e
(iv) &9 1 Feam
(v) whieta &l Hodm

4 R e e # & W wE g
He:

Options:

(1), (iw), (iii), (w)
913942354953,

(1), (iii), (iw), (1)
291394254954,

(1), (i), (iii), (w)
D1394254955,

(1), (w), (ii), (iv)
91394354956,

Sub-Section Number: 3
Sub-Section 1d: 9139431158
Question Shuffling Allowed : Yes

Question Number : 90 Question Id : 91394321630 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



‘M’i’éﬂ(ﬁ%?ﬂﬂ&umg psychosocial erises in a sequence that a child faces from birth to 'repp

adolescence : B
(i) Initiative vs. guilt
(i) Trust vs. mistrust
(iii) Industry vs. inferiority
(iv) Autonomy vs. shame, doubt
(v) Identity and repudiation vs. Identity diffusion
Choose the correct answer from the code given below :
Code :
Options:

(1), (1), (iv), (v), (1)
91234284957,

(i), (iv), (1), (iii), (v)
912334584958,

(1), (iD), (iv), (v), (1ii)
91334254959,

(1), (iw), (11), (iii), (v)
91334284960,

Question Number : 90 Question Id : 91394321630 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

w st o0 8 forvitay w R Freafefas weramnfors @t &1 ammn s & 375 %0 4 gegafea
Hifau .

(i) Y5 SHAH AW

(i) favam sam wrfavamg

(iii) Ferfirat = E=e

(iv) Tarrar =4 I, 9eE

(v) g & R0 40 e WE
fre feu T = & | W I H g

ESE
Options:

(1), (1), (iv), (v), (i)
91334254957,

(1), (iv), (1), (iii), (v)
91334584958,

(1), (i), (iv), (v), (1)
91234284959,



WWW.PIePP.IMy (i), (i), (i), (v) Prepp
91394354960,

Question Number : 91 Question Id : 91394321631 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
Write the phases of women menstrual eycle in a sequence from first to last :
(i) Owulation phase
(ii) Luteal phase
(iii) Menstruation phase
(iv) Follicular phase
Choose the correct answer from the code given below :
Code:
Options:
(iii), (i), (ii), (iv)

2915394254961,

(i), (iv), (1), (1)
91334554962,

(idi), (ii), (iv), (1)
B91234554963.

(iii), (1), (iw), (i)
91334554964,

Question Number : 91 Question Id : 91394321631 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

wfgenail & wiftes =% & =1 1 99w 8 Afow 7 & F& 9 | gegareqd i
(i) Hrgere= =

(i) gfews =

(ii) FEgUe =0

(iv) iciager =0

13 foe T e # @ A SR 9P

He:
Options:

(i), (i), (ii), (iv)

91334554961,

(1ii), (iv), (1), (i)
1234584962,

(1), (ii), (iv), (1)
H1334554963.



WWW.Prepp.1;) (i), (iv), (i) prepp
91394384964.

Question Number : 92 Question Id : 91394321632 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Lactic acid formed during exercise in the muscle undergoes reversible chemical changes.
Find the correct sequence of these changes :

(i) Liver Glycogen
(ii) Muscle Glycogen
(iii) Liver Pyruvate
(iv) Blood Lactate

(v) Muscle Pyruvate
Choose the correct answer from the code given below :

Code :
Options:

(1), (i), (iw), (v), (1i)
B91334554965.

(i), (iw), (w), (iii), (1)
91334554966,

(1), (iw), (w), (1i1), (i)
91334584967,

(i), (w), (iv), (iii), (i)
Q91 394254968,

Question Number : 92 Question Id : 91394321632 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

et 7 saram % S ffifa affes ana | oftad-a vomafae sftadat # saoor g 2 ) 3 siedq
1 FEl I T hIFAC

(i) e TATIHTA

(i) Weftar e

(iil) Fhq TrErESE

(iv) T daee

(v) Usfta rsee

Fr= fou ™ g A @ T W g

% :

Options:

(1), (1i1), (iw), (v), (i)
91334554965,



WWW.PIepP.IM) (iv), (v), (i), (i) Prepp
91394334966,

(1), (iw), (w), (111), (i)
91334584967,

(1), (w), (iv), (1ii), (i)
91234554965,

Question Number : 93 Question Id : 91394321633 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Find the correct sequence of systemic circulation path :

(i)  Vena Cava
(ii) Right Auricle
(iii) Capillaries
(iv) Aorta

(v) Arteries

(vi) Venules

(vii) Left Ventricle
Choose the correct answer from the code given below :

Code :
Options:
(1), (iv), (w), (1), Cwid, (1), (vii)
Q1594284969
(wid), (iv), (w), (iii), (vi), (i), (i)
Q12943284970
(i, (i), (iii), (wi), (iv), (v, (vii)
Q1394254971
(wil), (w), (iw), (wi), (1ii), (1), (i)
Q1594284972

Question Number : 93 Question Id : 91394321633 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



AL S TP ——— prepp
(i) < HrE

(i) gferm stferg

(iii) <hfreRTd

(iv) HETaHA

(v) vt

(vi) 9=e|

(vii) amm Frem

#r= fiw m 52 4 | T I W g

He:
Options:

(id), (iv), (w), (idd), (wid, (1), (vii)
A1394254969.

(vii), (iv), (w), (1), (vi), (1), (i)
91334584970,

(1), (1), (iii), (wi), (iv), (w), (vii)
Q139432584971

(wid), (w), (iv), (wi), (iii), (i), (i)
Q1294254972

Question Number : 94 Question Id : 91394321634 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Find the correct sequence from top to bottom :
(i) Facet joint
(ii) Gomphosis
(iii) Pubic Symphysis
(iv) Sutures

Choose the correct answer from the code given below :

Code :
Options:
(1), (idd), Civ), (i)

912334584973,

(i), (1), (iii), (iv)
913345354974,

(i), (iv), (ii), (1)
91334584975,



WWW.Prepp.y) i), (i), (i prepp
91394384976. S

Question Number : 94 Question Id : 91394321634 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

9 & i< T TEt E 1 T TET
(i) wEe gfy
(i) TreRfEE
(iii) wgferes feromrsfira
(iv) gad
fr= few o g2 & B wdt I H g
e
Options:
(1), (iid), (iv), (ii)
91394384973,
(i), (i), (iii), (iv)
913943284974,
(iid), (iv), (i), (i)
91394384975,
(iv), (id), (i), (iii)
91394354976,

Question Number : 95 Question Id : 91394321635 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

The sequence of movements in the preparation phase of one-arm overarm cricket ball
throwing is

(i) Wrist hyper extension
(i) Elbow flexion
(iii) Pelvic and trunk rotation

(iv) Horizontal extension and lateral rotation of the shoulder
Choose the correct answer from the code given below :

Code :
Options:

(iw), (1ii), (ii), (i)
913345384977,

(i1}, (iw), (1), (ii1)
913345849758,



WWW.Prepp.Ii i), Gii), (iv) prepp
91394384979,

(i), (1v), (1i), (1)
91334584950,

Question Number : 95 Question Id : 91394321635 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

frehe &t 7ig &t -3t sftaamd S it dardt sraen | weE W oW
(i) s BTET THEeTH

(ii) et werwm

(i) Ufeaeh aft 3o Tam

(iv) %4 6t gfers afirafy ai wfvdss oofa

fre e e & & @ I w g

He:
Options:

(1w ), (iid), (1), (1)
B1334554977.

(id), (iw), (1), (ii1)
91334554975,

(1), (11}, (1), (1v)
91334584979,

(1), Ciw), (i1), (1)
91234554980,

Question Number : 96 Question Id : 91394321636 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Arrange in sequential order the following interrelated stages of
stress :

(i) Individual's perception of demand
(i) Environmental demands
(iii) Behavioural consequences in outcome
(iv) Stress response
Choose the correct answer from the code given below :
Code :
Options:

(1), (11), (1v), (1)
91334584951,



WWW.Prepp.1;) (iv), (), (i prepp
91394384982.

(iv), (i), (1), (ii1)
91334584953,

(1), (1), (iv), (iii)
91234554954,

Question Number : 96 Question Id : 91394321636 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
e % Frafafiga s .defia s <t ot e | sgaferm fifi
(i) =i i safea sEumron
(ii) vt gadt win
(iii) =g gfawe 1 gfomg

(iv) e 3T
fr= R 32 # @ vt I A I

He:
Options:

(1), (11), (iv), (111)
91334554951,

(i), (1v), (1), (1)
91334584982,

(1w}, (i1), (1), (1ii)
912334554953,

(i), (1), (iv), (1iii)
913345354954,

Question Number : 97 Question Id : 91394321637 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
Find the correct sequence in ascending order with regard to age characteristics :
(i) Growth at a slow pace

(ii) Tremendous physical, physiological and psychological turbulence
(iii) Accelerated growth spurt
(iv) Highly sensitive growth period
Choose the correct answer from the code given below :
Code:
Options:

(1), (iii), (i), (iv)
H91334554985.



WWW.Prepp.y) ), (i), (i prepp
91394384986.

(1), (iv), (iii), (1)
91334584957,

(1), (i), (iv), (ii)
912345549855,

Question Number : 97 Question Id : 91394321637 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

sty fesmanadt &1 A s 8 Gd s T ife
() wg wfa & fara

(i) srcafiren wdifes, wli-fasmht qon s soa
(iif) Farerrar e afg TR

(iv) Feafre Hagareas fas@ Frd

3 foe Ty # @ wh SR IR

®e:
Options:

(1), (111), (i), (iv)
91334584955,

(iv), (1), (iii), (i)
B1334554956.

(1), (iv), (iii), (i)
91334554957,

(i), (1), (iw), (1)
91334584958,

Question Number : 98 Question Id : 91394321638 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
Find out the correct sequence of the launching of these programmes in chronological order :
(i) Mid-day Meal Programme
(ii) Integrated Child Development Services
(iii) Balwadi Nutrition Programme

(iv) National Goitre Control Programme
Choose the correct answer from the code given below :

Code :
Options:

(1), (iv), (iii), (i)
91334554959,



WWW.Prepp.;) (i), (iv), (i) prepp
91394384990.

(1), (1), (1v), (1)
91334584991,

(1w}, (iid), (1), (1)
912334554992,

Question Number : 98 Question Id : 91394321638 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Frfefiga sriFEa A qeama =1 a9 FamHa @w i ;
(i) weaTs HieH FriwA

(i) Tl et fawm gand

(iii) ETeTaTSt TV iR

(iv) T v Frrsor e

¥ Ry e g2 § @ W I R IR

He:
Options:

(1), (iv), (iii), (i)
91334554959,

(1a1), (i), (iv), (1)
913345849390,

(1), (1), (iv), (iii)
91234554991,

(iw), (iii), (ii), (i)
91334535493%2.

Question Number : 99 Question Id : 91394321639 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
Find out the correct sequence of the development of malarial parasite in sexual cycle :
(i) Gametocyte
(ii) Sporozoites
(iii) Oocyst
(iv) Ockinete
Choose the correct answer from the code given below :

Code :
Options:

(1), (i), (iv), (1ii)
913345549593,



WWW.PIepP.-1), i), (i), (iv) prepp
91394334994, et

(i), (1v), (1), (1)
913345849595,

(1), (iw), (iii), (ii)
91234554996,

Question Number : 99 Question Id : 91394321639 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

wAireh =3k o qern gt & faswma o adt 9 %t 3ma Fifem

(i) Tefterarse
(ii) ERIATECE
(iii) =ntfiree
(iv) 3TrgTe
#r= few m 52 & | T 3w w5
% :
Options:
(i), (ii), (iv), (iii)
91394384993
(id), (iii), (1), (iv)
91394384994,
(i), (iv), (1), (ii)
91394384995,
(i), (iv), (i), (ii)
91394384996,

Question Number : 100 Question Id : 91394321640 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

The correct sequence for effective formulation and implementation of technique training in
the first phase is

(i) Less stress on kinesthetic perception
(ii) Development of movement concept
(iii) Analysis of present state

(iv) Practice under easier conditions

Choose the correct answer from the code given below :

Code :

Options:



WWW.PTePP.-1), (iv), (i), (i) Prepp
91394354997,

(1a1), (i), (iv), (1)

91334584995,

(i), (i), (i), (iv)
912334554999,

(id), (iii), (iv), (1)
91334385000,

Question Number : 100 Question Id : 91394321640 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

o o & wehteRt S 3 mrelt et st wmta & wdt e
(i) e Het sraeieT w0 9R

(ii) Ter ey & fasm

(iii) FAET SHaeat & favemn

(iv) e afifefat & s

fr= few me 52 4 | ot I+ g

He:
Options:

(i1), (iw), (1), (ii1)
91334584997,

(1), (ii), (iv), (1)
912334554995,

(iii), (i1), (1), (iv)
9133453549399,

(11), (i), (iv), (1)
91334585000,

Question Number : 101 Question 1d : 91394321641 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Sequentially arrange the following training plans in ascending order according to their
durations :

(i) Operative plan

(ii) Micro cycle plan

(iii) Yearly plan

(iv) Training session plan

Choose the correct answer from the code given below :

Code :



Qmfiew. prepp.in prepp

{iv}, 'fijj_}’ {i}’ {ij_} ersonal Exams Guide
21294285001,

(iv), (ii), (1), (ii1)
B9133438500%.

(1), (iv), (i), (i)
91334585003,

(1), (iv), (iii), (i)
B1334585004.

Question Number : 101 Question Id : 91394321641 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

wgd g s A Frefefad sl dismrelt A1 379 Fiaska % i § sqaferg fifie
(i) Toramens dtemn

(i) HEA T T

(idi) 1R T

(iv) wf¥eror T A

#r= fiw m 52 4 | T I W g

He:
Options:

(i), (11i), (1), (i)
91334585001,

(iv), (i), (1), (ii1)
91334585002,

(1), (iv), (ii), (i)
21334585003,

(1), (iv), (iii), (i)
91334385004,

Question Number : 102 Question Id : 91394321642 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



WHE‘%H‘E&BR[\!:@H@& of the steps in the survey research process is 'relpmg
(i) Delimit sample

(ii) Send questionnaire

(iii) Conduct Pilot study

(iv) Analyze result and prepare report
(v)  Write covering letter

(vi) Determine objectives

(vii) Follow up

(viii) Construct questionnaire
Choose the correct answer from the code given bhelow :

Code :
Options:

(vi), (viw), (1), (1), (v), (i), (vii), (iv)
91334585005,

(vi), (1), (ii1), (wiii), (v), (i), (vii), (iv)
B13345850086.

(vi), (viii), (ii1), (i), (), (ii), (vid), (iv)
215394255007,

(vi), (1), (viii), (1), (v), (ii), (vii), (iv)
91334585008,

Question Number : 102 Question Id : 91394321642 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
Haeger Tie isRaT % SO & wE HE 8
(i) wfege it diemfEd s

(i)  wEATEE WS

(iii) SR e

(iv) afrorrs fervereor afit foard dame
(v) e v fae

(vi) weg frafor

(vii) el foram

(viii) ST T

fr= few e e § | wdt I W g

®e:
Options:

(vi), (viw), (1), (1), (v), (i), (vii), (iv)
91334585005,



WWW.Prepp.-Ryi) (i), (i, (viid), (v), (i, (vid), (iv) prepp
91394385006.

(wi), (wiid), (1dd), (1), (w), (ii), (wid), (iv)
Q1294285007

(wi), (1), (wiid), (i), (v), (1), (wii), (iv)
912334585008,

Question Number : 103 Question Id : 91394321643 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
The correct sequence of the steps in the scientific method of problem solving is
(i) Gathering the data

(ii) Analyzing and interpreting results
(iii) Developing the problem

(iv) Formulating the hypothesis
Choose the correct answer from the code given below :

Code :
Options:
(1ii), (1), (iv), (i)
91294285009,
(iii), (i), (ii), (iv)
91=Z94285010.
(1di), (iw), (i), (ii)
91Z94385011.
(1di), (iw), (i1), (1)
91=942585012.

Question Number : 103 Question 1d : 91394321643 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

e gAY St gft % o & ad e R
(i) afehe wwlra s

(i) foms faver it samen

(iii) Trere faera

(iv) WTeFeheg1 HErHo
fre e e & & @ I w g

% :

Options:

(i), (i), (iv), (ii)
B1334=85009,



WWW.Prepp.1;) (i), (ii), (iv) prepp
91394385010.

(i), (1v), (1), (1)
91334585011,

(1), Ciw), (i1), (1)
91334585012,

Question Number : 104 Question Id : 91394321644 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
The correct sequence for taking anthropometric measurements is
(i) Marking of the site
(ii) Manoeuvering of tape
(iii) Location of site
(iv) Recording
Choose the correct answer from the code given below :

Code :
Options:

(1), (1), (1ii), (iv)
912334585013,

(1), (iid), (iw), (i)
91334385014,

(1), (iv), (i), (i)
91334585015,

(i), (1), (ii), (iv)
91334585016,

Question Number : 104 Question 1d : 91394321644 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

ugraifes ofmme o7 % fou a8t 7 2
(i) e = Tafga w0

(ii) 29 %1 gf=red

(iiil) T 1 HFTEATI

(iv) Feifén
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% :

Options:

(1), (i), (1), (iv)
H91334585013.



WWW.PrepP.Iy i), (iv), (i) Prepp
91394385014,

(1), (iv), (ii), (1)
91334585015,

(1), (i), (ii), (iw)
912334585016,

Question Number : 105 Question Id : 91394321645 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
The correct sequence while constructing skill test is
(i) Selecting tentative test items
(ii) Developing norms
(iii) Finding scientific authenticity
(iv) Analysing sport to be tested
Choose the correct answer from the code given below :

Code :

Options:

(i), (1), (iii), (i)
2912334585017,

(1), (iv), (ii), (iii)
91334385018,

(i), (11i), (1), (i)
91334385019,

(1), (111), (iw), (1)
91334585020,

Question Number : 105 Question 1d : 91394321645 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

el Thteror i = O A A 8
(i) wrEtfres glteqo ugt %1 =44

(ii) et it faswfia e

(iii) Sfes werforeRar dgn

(iv) wfterr aret e 1 favermo
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% :

Options:

(iw), (1), (iii), (ii)
B91334=85017.



WWW.Prepp.Iiy, (iy), (i), (iii) Prepp
91394385018,

(i), (11i), (1), (1)
91334585019,

(1), (iai), (iv), (ii)
912334585020,

Question Number : 106 Question Id : 91394321646 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

The correct sequence for Equipment management is

(i) Responsibility and accountability
(ii) Ensuring proper issue and receipt
(iii) Checking out and in

(iv) Maintenance and care

(v) Procedures related to purchase
Choose the correct answer from the code given below :

Code :
Options:

(1ii), (iv), (v), (i), (1)
91334585021,

(v, (1), (1), (iw), (iii)
B1334585022.

(1), (D), (iii), (v), (iv)
91334585023,

(w), (iv), (i), (i), (i)
91334585024,

Question Number : 106 Question 1d : 91394321646 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
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912394385022,

(i), (ii), (iii), (w), (iv)
913942385023,
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Sub-Section Number: 4
Sub-Section 1d: 9139431159
Question Shuffling Allowed : Yes

Question Number : 107 Question Id : 91394321647 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Given below are two statements, one labelled as Assertion (A) and the other labelled as
Reason (R). Read the statements and choose the correct answer using the code given below.

Assertion (A) : In non-endurance athletes, that is, athletes engaged in high-resistance type
of activities, the stroke volume capabilities are no different from those of
their non-athletic counterparts.

Reason (R): In these non-endurance athletes, cardiac hypertrophy iz characterized by a
normal sized ventricular cavity and a thicker ventricular wall.

Code:
Options:
Both (A) and (R) are true and (R) is the correct explanation of (A).
Q12942585025
Both (A) and (R) are true, but (R) is not the correct explanation of (A).
913942385026,
(A) is true, but (R) is false.
91394385027,
(A) is falze, but (R) is true.
91394385028,

Question Number : 107 Question Id : 91394321647 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Question Number : 108 Question Id : 91394321648 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Given below are two statements, one labelled as Assertion (A) and the other labelled as
Reason (R). Read the statements and choose the correct answer using the code given below.

Assertion (A) : Recreation is important for individuals of all ages as it provides a means to
revitalize and refresh one’s body and spirit.

Heason (R):  Recreation can contribute to the quality of an individual’s life.

Code :
Options:

Both (A) and (R) are true and (R) is the correct explanation of (A).
21394285029,

Both (A) and (R) are true, but (R) is not the correct explanation of (A).
215394255030,

(A) is true, but (R) is false.
91294285031,

(A) is falzse, but (R) is true.
Q15942850352

Question Number : 108 Question 1d : 91394321648 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Question Number : 109 Question Id : 91394321649 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Given below are two statements, one labelled as Assertion (A) and the other labelled as
Reason (R). Read the statements and choose the correct answer using the code given below.

Assertion (A) : The complete breakdown of a fat molecule yields about 460 ATP molecules.
Fatty acid metabolism is directly associated with oxygen uptake.

Reason (R):  Numerous interconversions are possible among the various food nutrients.
The exception is fatty acids that cannot be used for the synthesis of glucose.

Code:
Options:

Both (A) and (R) are true and (R) is the correct explanation of (A).
913943850335,

Both (A) and (R) are true, but (R) is not the correct explanation of (A).
Q1594285024

(A) is true, but (R) is false.
Q91394285035

(A) is false, but (R) is true.
912334585036,

Question Number : 109 Question Id : 91394321649 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Question Number : 110 Question Id : 91394321650 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Given below are two statements, one labelled as Assertion (A) and the other labelled as
Reason (R). Read the statements and choose the correct answer using the code given below.

Assertion (A) : Environmental factors have profound influence on athletic performance and
adaptation to these effects is crucial for champions.

Heason (R) :  Altitude, temperature, humidity and many such extraneous factors are
hindrance for athletic performance.

Code :
Options:

Both (A) and (R) are true and (R) is the correct explanation of (A).
913942385037,

Both (A) and (R) are true, but (R) is not the correct explanation of (A).
Q1=29432850328,

(A) is true, but (R) is false.
B1334585029.

(A) is falze, but (R) is true.
Q1394285040

Question Number : 110 Question Id : 91394321650 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



WY REPROIRE, it & o st () 2 g () & | S B Rk AR R Ve PP
Fe I TEM FHE I g |
e (A) : wata gadt St & Yyafes weeii o wrh wTE gga | 991§ el % %o
i A a7 # wgwapl yfie @t 2
i (R) : SIS, AIIHE, ATl 94T UH 3 96l ®ieh Udeildsh YgIH § are § |
e
Options:

(A) 3 (R) 9T (R), (A) i T8t =amEar |
Q1394285027 ﬂ‘ﬁi?tﬁﬁ Hﬁ %

(A) 3ft (R) ST w@t €, T (R), (A) i Tt same 78 & |
91394385038,

(A) @& &, T0d (R) Terd & |
91394385039

(A) T 8, Wg (R) H&t 7 |
91394385040.

Question Number : 111 Question Id : 91394321651 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Given below are two statements, one labelled as Assertion (A) and the other labelled as
Reason (R). Read the statements and choose the correct answer using the code given below.

Assertion (A) : For observation of movement in qualitative analysis, the gymnastic coaches
use the temporal information from the sound of impact with the mat.

Reason (R): A systematic observational strategy helps the gymnastic coaches to ensure

the tremendous perceptual demands of observing movement.

Code:
Options:

Both (A) and (R) are true and (R) is the correct explanation of (A).
91594355041,

Both (A) and (R) are true, but (R) is not the correct explanation of (A).
Q1594285042

(A) is true, but (R) is false.
Q1394285043

(A) is false, but (R) is true.
91234555044,

Question Number : 111 Question Id : 91394321651 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Question Number : 112 Question Id : 91394321652 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Given below are two statements, one labelled as Assertion (A) and the other labelled as
Reason (R). Read the statements and choose the correct answer using the code given below.

Assertion (A) : The layout position of gymnast makes it more difficult to somersault.
Reason (R): An extended gymnast has a greater moment of inertia than a piked gymnast.

Code :
Options:

Both (A) and (R) are true and (R) is the correct explanation of (A).
21594255045,

Both (A) and (R) are true, but (R) is not the correct explanation of (A).
Q139428504E,

(A) is true, but (R) is false.
912394285047,

(A) is falze, but (R) is true.
Q12942585045

Question Number : 112 Question Id : 91394321652 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Question Number : 113 Question 1d : 91394321653 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Given below are two statements, one labelled as Assertion (A) and the other labelled as
Reason (R). Read the statements and choose the correct answer using the code given below.

Assertion (A) : Tazk oriented proactive and assertive behaviour is that which is not
extended to injure to achieve one’s goal.

Reason (R):  The purpose is to achieve desired goal in which harm to another person

occurs accidentally or/and because it is the most efficient way.

Code :
Options:

Both (A) and (R) are true and (R) is the correct explanation of (A).
21394285049,

Both (A) and (R) are true, but (R) is not the correct explanation of (A).
215394255050,

(A) is true, but (R) is false.
912494285051,

(A) is falzse, but (R) is true.
Q1594285052

Question Number : 113 Question 1d : 91394321653 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Question Number : 114 Question Id : 91394321654 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Given below are two statements, one labelled as Assertion (A) and the other labelled as
Reason (R). Read the statements and choose the correct answer using the code given below.

Assertion (A) : A participant’s perception of the causes for an outcome influences
subsequent motivation.

Heason (R):  Positive outcome which is perceived to be the result of internal personal
factors rather than external environmental factors is associated with
pride and satisfaction.

Code :
Options:

Both (A) and (R) are true and (R) is the correct explanation of (A).
91594385053,

Both (A) and (R) are true, but (R) is not the correct explanation of (A).
Q1594285054

(A) is true, but (R) is false.
Q1394285055

(A) is false, but (R) is true.
H1334585056,

Question Number : 114 Question Id : 91394321654 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Question Number : 115 Question Id : 91394321655 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Given below are two statements, one labelled as Assertion (A) and the other labelled as
Reason (R). Read the statements and choose the correct answer using the code given below.

Assertion (A) : In the initial stages of development of curriculum planning, specific subjects
or areas were planned in advance for students and they are more or less
fixed in nature.

Reason (R): The curriculum is composed of experiences in which students are involved
under the guidance of teacher for learning to achieve goals.

Code :
Options:

Both (A) and (R) are true and (R) is the correct explanation of (A).
21394285057,

Both (A) and (R) are true, but (R) is not the correct explanation of (A).
91394385058,

(A) is true, but (R) is false.
91294285059,

(A) is falzse, but (R) is true.
Q1=294285060,

Question Number : 115 Question Id : 91394321655 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Question Number : 116 Question Id : 91394321656 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Given below are two statements, one labelled as Assertion (A) and the other labelled as
Reason (R). Read the statements and choose the correct answer using the code given below.

Assertion (A) : Physical Edueation teacher should give detailed explanation of the skill to be
taught in the beginning.

Reasgon (R): The students learn most effectively when they have a clear general idea of
skill and major technical features involved in the skill but not all the details.

Code :
Options:

Both (A) and (R) are true and (R) is the correct explanation of (A).
21394285061,

Both (A) and (R) are true, but (R) is not the correct explanation of (A).
915394385062,

(A) is true, but (R) is false.
912394285063,

(A) is falzse, but (R) is true.
Q1594285064

Question Number : 116 Question Id : 91394321656 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Question Number : 117 Question Id : 91394321657 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Given below are two statements, one labelled as Assertion (A) and the other labelled as
Reason (R). Read the statements and choose the correct answer using the code given below.

Assertion (A) : The term environmental sanitation is now being replaced by environmental

health.

Reason (R):  The demographic growth and slow urbanisation all over the world are
bringing profound social and environmental changes.

Code:
Options:

Both (A) and (R) are true and (R) is the correct explanation of (A).
91394385065,

Both (A) and (R) are true, but (R) is not the correct explanation of (A).
Q1594285068

(A) is true, but (R) is false.
Q1394285067

(A) is false, but (R) is true.
91334585068,

Question Number : 117 Question Id : 91394321657 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Question Number : 118 Question Id : 91394321658 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Given below are two statements, one labelled as Assertion (A) and the other labelled as
Reason (R). Read the statements and choose the correct answer using the code given below.

Assertion (A) : The carbohydrate loading is not recommended for sprinters and other
non-endurance athletes.

Reason (R):  The procedure results in an increased muscular storage of water leading to

heaviness and stiffness in muscles.

Code:
Options:

Both (A) and (R) are true and (R) is the correct explanation of (A).
915394385069,

Both (A) and (R) are true, but (R) is not the correct explanation of (A).
Q139428507 0,

(A) is true, but (R) is false.
Q1394285071

(A) is false, but (R) is true.
1334585072,

Question Number : 118 Question Id : 91394321658 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Question Number : 119 Question Id : 91394321659 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Given below are two statements, one labelled as Assertion (A) and the other labelled as
Reason (R). Read the statements and choose the correct answer using the code given below.

Assertion (A) : The effectiveness of Ballistic method is doubted in the development of
flexibility.

Heason (R):  The swinging movement leads to stretch reflex in the antagonist muscle
thereby hindering the optimum stretch of the concerned muscle.

Code :
Options:

Both (A) and (R) are true and (R) is the correct explanation of (A).
913942385073,

Both (A) and (R) are true, but (R) is not the correct explanation of (A).
Q12943285074

(A) is true, but (R) is false.
B1334585075.

(A) is falze, but (R) is true.
Q9139428R07E,

Question Number : 119 Question Id : 91394321659 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Question Number : 120 Question Id : 91394321660 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Given below are two statements, one labelled as Assertion (A) and the other labelled as
Reason (R). Read the statements and choose the correct answer using the code given below.

Assertion (A) : The adaptation process is set in motion only when the load is optimum.
Heason (R):  Appropriate balance in load and recovery brings the required changes in the
structural and funetional aspects of athlete.

Code :
Options:

Both (A) and (R) are true and (R) is the correct explanation of (A).
91394355077,

Both (A) and (R) are true, but (R) is not the correct explanation of (A).
Q1529428507 8,

(A) is true, but (R) is false.
91334585079,

(A) is false, but (R) is true.
91294285080,

Question Number : 120 Question Id : 91394321660 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



WY REPROIRE, it & o st () 2 g () & | S B Rk AR R Ve PP
Fe I TEM FHE I g |

e (A) : FqFe wsean 7t & St @ 519 W geean g ®
% (R) : 9§ Ty dge o gratwdt & tyedte % e it T veget 4 anifia
wEeTa AT | |
e
Options:

(A) 3 (R) 9T (R), (A) i T8t =amEar & |
A1ZE94=Z8507 7. fFﬁ'E'gﬁﬁ @ %

(A) 3ft (R) ST w@t €, T (R), (A) i Tt same 78 & |
91394385078,

(A) @& &, T0d (R) Terd & |
91394385079

(A) T 8, Wg (R) H&t 7 |
91394385080.

Question Number : 121 Question Id : 91394321661 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Given below are two statements, one labelled as Assertion (A) and the other labelled as
Reason (R). Read the statements and choose the correct answer using the code given below.

Assertion (A) : A felt difficulty occurs, in which one encounters a puzzling experience or
problem.

Reason (R):  The felt difficulty remains unidentified but is clearly defined in terms of a
problem statement.

Code:
Options:

Both (A) and (R) are true and (R) is the correct explanation of (A).
91394385051,

Both (A) and (R) are true, but (R) is not the correct explanation of (A).
Q1594285052

(A) is true, but (R) is false.
Q1394285083

(A) is false, but (R) is true.
912334585084,

Question Number : 121 Question Id : 91394321661 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



YW -RICRRA0E, Rt & w siftrer (A) & i gm a (R) & | ot 9w aik A9 e prepp
Fe I TEM FHE I g |

SfiweT (A) ;AT AIHE T WHE F WA 8 T AG e 9fed gt @ |
T (R) : FIA Hers fafea wedt @ S vk e Fya & wed F gufonfya &t & |
% :

Options:

(A) # (R) q9T (R), (A) i wat sgrean § |
91394385081 T wd ¢

(A) 3R (R) 31 5t €, W (R), (A) < et samen 3¢ & |
91394385082

(A) T8 B, T (R) Teid 2 |
91394385083,

(A) T &, WG (R) &t 2
91334385034,

Question Number : 122 Question 1d : 91394321662 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Given below are two statements, one labelled as Assertion (A) and the other labelled as
Reason (R). Read the statements and choose the correct answer using the code given below.

Assertion (A) : Standard score facilitates comparizon of athlete’s performance in two
different events having separate units.

Reason (R):  The standard score indicates as to how many standard deviations a score is

above or below the mean.

Code :
Options:

Both (A) and (R) are true and (R) is the correct explanation of (A).
21394285085,

Both (A) and (R) are true, but (R) is not the correct explanation of (A).
21594255086,

(A) is true, but (R) is false.
91294285087,

(A) is falzse, but (R) is true.
Q1=294285088.

Question Number : 122 Question 1d : 91394321662 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Y -BESRRARE, fri & o o ()} g 7 (R & | B Rk Rgm, G ePP
Fe I TEM FHE I g |
iR (A) : ﬁ;ﬁmﬁaﬁﬁﬂﬁﬂmﬂmﬁﬁﬂ?ﬁa%mﬁﬁmmmé@ma
|
% (R) : T+ ATcdies 98 guiiar & o et wreare 4 qren & s 31 i g o feme
e
Options:

(A) 3 (R) 9T (R), (A) i T8t =amEar & |
Q1394285085 ﬂ‘ﬁi?tﬁﬁ Hﬁ %

(A) 3ft (R) ST w@t €, T (R), (A) i Tt same 78 & |
91394385086,

(A) @& &, T0d (R) Terd & |
91394385087

(A) T 8, Wg (R) H&t 7 |
91394385088,

Question Number : 123 Question Id : 91394321663 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Given below are two statements, one labelled as Assertion (A) and the other labelled as
Reason (R). Read the statements and choose the correct answer using the code given below.

Assertion (A) : Formative evaluation provides feedback to students during the course of
instruction.

Reason (R):  Formative evaluation promotes learning during the unit of instruction.

Code :
Options:

Both (A) and (R) are true and (R) is the correct explanation of (A).
91394355089,

Both (A) and (R) are true, but (R) is not the correct explanation of (A).
Q1294285090

(A) is true, but (R) is false.
912334585091,

(A) is false, but (R) is true.
912943285092,

Question Number : 123 Question Id : 91394321663 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



W REPROARE, frvi 2w st () 8 st g o (0 & 1w AR sk Ry, e PP
Fe I TEM FHE I g |

FHfipeT (A) - Frmfomene: qeaie ol w390 % S Freds vgH Far g |

% (R) : Frfomene: qeaiea 19Ew 3 o OF T WEH T @ |

% :
Options:

(A) # (R) q9T (R), (A) i wat sgrean § |
91394385089, T wd ¢

(A) 3R (R) 31 5t €, W (R), (A) < et samen 3¢ & |
91394385090,

(A) T8 B, T (R) Teid 2 |
91394385091,

(A) T &, WG (R) &t 2
91394385092

Question Number : 124 Question 1d : 91394321664 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Given below are two statements, one labelled as Assertion (A) and the other labelled as
Reason (R). Read the statements and choose the correct answer using the code given below.

Assertion (A) : Obesity is caused by excessive intake of fat that accumulates in the body.

Reason (R):  The excessive fat is not metabolised due to lack of physical activity.

Code:
Options:

Both (A) and (R) are true and (R) is the correct explanation of (A).
91394355093,

Both (A) and (R) are true, but (R) is not the correct explanation of (A).
Q15942850494

(A) is true, but (R) is falze.
Q1394285095

(A) is false, but (R) is true.
Q12942585096

Question Number : 124 Question Id : 91394321664 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



WY REPROIRE, it & o st () 2 g () & | S B Rk AR R Ve PP
Fe I TEM FHE I g |
AR (A) :  HieTd1 Feafies A & S99 U9 44 ° gan & 5 sl | S| g e 2

7% (R) : wiriifiss Fdey & AvE ° srcafies 9@ 1 I99=EE T8 B a2 |
% :
Options:

(A) # (R) q9T (R), (A) i wat sgrean § |
91394385093, T wd ¢

(A) 3R (R) 31 5t €, W (R), (A) < et samen 3¢ & |
91394385094,

(A) T8 B, T (R) Teid 2 |
91394385095,

(A) T &, WG (R) &t 2
913343850986,

Question Number : 125 Question 1d : 91394321665 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Given below are two statements, one labelled as Assertion (A) and the other labelled as
Reason (R). Read the statements and choose the correct answer using the code given below.

Assertion (A) : Controlling iz one of the managerial functions like planning, organising,
staffing and directing.

Reason (R):  Itis an important function because it will not help to check errors and
deviation to achieve required goals.

Code :
Options:

Both (A) and (R) are true and (R) is the correct explanation of (A).
21394285097,

Both (A) and (R) are true, but (R) is not the correct explanation of (A).
215394255098,

(A) is true, but (R) is false.
9l 294285099,

(A) is falzse, but (R) is true.
Q1294285100

Question Number : 125 Question 1d : 91394321665 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



WY REPROIRE, it & o st () 2 g () & | S B Rk AR R Ve PP
Fe I TEM FHE I g |
sfirea (A) - w1 99 & o wudhE s & A e, stEeE, sife e fEem
7% (R) : 7 U HEwa gl wrd B i suR arufira @i i wred w0 % for gfeat o famert
T 3 e H Heg T8 faerft |
e
Options:

(A) 3 (R) 9T (R), (A) i T8t =amEar |
Q1394285097 ﬂ‘ﬁi?tﬁﬁ Hﬁ %

(A) 3ft (R) ST w@t €, T (R), (A) i Tt same 78 & |
91394385098,

(A) @& &, T0d (R) Terd & |
91394385099

(A) Ted B, (R) @&t 2 |
Q1294285100 e

Question Number : 126 Question Id : 91394321666 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Given below are two statements, one labelled as Assertion (A) and the other labelled as
Reason (R). Read the statements and choose the correct answer using the code given below.

Assertion (A) : Management is a manifold activity; it is carried on at different levels of the
organisational structure.

Reason (R):  In any organisation, top management is the ultimate source of authority.

Code :
Options:

Both (A) and (R) are true and (R) is the correct explanation of (A).
91394355101,

Both (A) and (R) are true, but (R) is not the correct explanation of (A).
Q91294285102

(A) is true, but (R) is false.
912334555103,

(A) is false, but (R) is true.
91294285104,

Question Number : 126 Question Id : 91394321666 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



WY REPROIRE, it & o st () 2 g () & | S B Rk AR R Ve PP
Fe I TEM FHE I g |
AFT (A) ;YA O agfay nfafafa 2; 98 Gredrers g % fafte ol v =« s @

7% (R) : foreft oft e d sfid g s W IEAR G BT R |
E‘:
Options:
(A) 3 (R) a4 (R), (A) 1 T&t sarEan § |
91394385101, g e ¢
(A) 3 (R) 31 9t &, 70 (R), (A) A et samen 78 & |
91394385102,
(A) T8 B, T (R) Teid 2 |
91394385103,
(A) T B, (R)HE 2 |
91394385104, hR
Sub-Section Number : 5
Sub-Section Id: 9139431160
Question Shuffling Allowed : Yes

Question Number : 127 Question 1d : 91394321667 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Mateh the items of List [ with the items of List II and choose the correct answer from the
code given below.

List I List IT

(Stages of Development) (Years)
(a) Pre-operational (i) Birth to 2 years
(b) Sensorimotor (ii) Tto 12 years
(c) Formal operational (iii) 2 to 7 years
(d) Concrete operational (iv) Above 12 years
Code:

Options:

(a)—{i), (b)—(iii), (e)—{iv), (d)—(ii)
913943585105,

(a)—{iii), (b)—(1), (e)—{ii), (d)—{iv)
9133943851086,

(a)—(1), (b)—(iii), (e)(ii), (d)iv)
91394385107,

(a)—(iii), (b)), (e)—(iv), (d)—(ii)
91394385108,
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Question Number : 127 Question Id : 91394321667 Question Type: MCQ Option Shuffling : Yes Display Question NGMber ™ Yes

Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 Wrong Marks: 0

gt 1t wgl o1 gt 11t wgl & faram ifsr oit = feg o e 9 & ot 3wt =t 9fi

1 et I
(Feremma <& =rtom) (=rd)
(a) W-srTemea (i) o=@ 2ad
(b) Hefimret (i) 7% 129§
() Bitel ATTIHSA (i) 28 7 a9
(d) Sishre STrTHe (iv) 1299 & 39
Options:

(a)—{i), (b)—(iii), (e)—{iv), (d)—(ii)
91394385105,

(a)—{iii), (b)), (e)—{ii), (d)—liv)
9133943851086,

(a)—(1), (b)—(iii), (e)(ii), (d)iv)
913943585107,

(a)—iii), (b)—(1), (e)—{iv), (d)—(ii)
91394385108,

Question Number : 128 Question Id : 91394321668 Question Type: MCQ Option Shuffling : Yes Display Question Number
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Match the items of List I with the items of List II and choose the correct answer from the
code given below.

List I List II
(a) Reflex Movements (i) Inherent movement patterns based on
combinations of reflex movements

(b) Basic Fundamental Movements (ii) Degree of efficiency in performing a complex

movement
(e) Skilled Movements (iii) Action elicited without consecious veolition in
response to some stimuli.
(d) Perceptual Abilities (iv) Interpretation of stimuli from various modalities
Code :
Options:
(a)—(ii), (b)—(iii), (e)-(1), (d)iv)
91394385109,
(a)ii), (b)—(iv), (e)—(i), (d)iii)
91394385110,

(a)iii), (b)—(1), (e)—(id), (d)—(iv)
91394385111.

tYes



WWW.PIePP.ifa).ii, (b)), (e)iv), (d)i) prepp
91394385112

Question Number : 128 Question Id : 91394321668 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

gt 1t wgl o gt 11t wgl & farama $iforg oft = fog e g2 9 & ot o =t 9f |
el 1 | 1T

(a) dftrad Geem (i) wited dael % gatom! W amafa safifed daem fed

(b) & IR HeeH (i) Uk Afedt goer wt § wfeasmar i faft

(c) FIE HaeH (iii) Fereft 3hom 3 weger # o wr-wwd fopan e v

(d) wreaferss #toe (i) Tafee fafie @ sdhom & smen

Options:

(a)—(ii), (b)), (e)(i), (d)-iv)
91234285109,

(a)-(ii), (b)—iv), (e)1), (d)iii)
91594285110,

(a)iii), (b)—(1), (e)(id), (d)iv)
91394385111,

(a)—{iii), (b)—(1), (e)—{iv), (d)—(ii)
913943585112

Question Number : 129 Question Id : 91394321669 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Matech the items of List [ with the items of List II and choose the correct answer from the
code given below.

List I List IT
(a) Morphine (i) Beta-Blockers
(b) Marijuana (ii) Anabolic steroids
(e) Hydrocortisone (iii) Narcotics
(d) Atenolol (iv) Cannabinoids
(v) Glucocorticoids
Code:

Options:

(a)—(iv), (b)—(iii), (e)-ii), (d)—(i)
91394385113,

(a)—{iii), (b)—(1), (e)—{iv), (d)—(ii)
91394585114,

(a)—(iii), (b)iv), (e)-v), (d)—(i)
91394385115



WWW.PFEPP.If)_(iv), (b)), (e)—(v), ()~ prepp
913943851 16.

Question Number : 129 Question Id : 91394321669 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

gt 1t wgl o gt 11t wgl & farama $iforg oft = fog e g2 9 & ot o =t 9f |
T I et I
(a) AIEMA (i) et siwd
(b) AT (i) WATEITeTh RU3E
(c) TEEHIER (i) T&T9H (ArRifeam)
(d) efertata (iv) FATferTagE
(v) @ﬁﬁm

Options:

(a)—iv), (b)—(iii), (e)-(id), (d)—~1)
91394385113,

(a)—{iii), (b)), (e)—{iv), (d)—(ii)
91394385114

(a)iii), (b)~(iv), (e)—(v), (d)~(D)
91394385115,

(a)—liv), (b)—(iii), (e)(v), (d)—(ii)
91394385116,

Question Number : 130 Question Id : 91394321670 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Match the items of List I with the items of List II and choose the correct answer from the
code given below.

List I List IT
(a) OBLA (i) Inter conversions between the nutrients
(b) MET (ii) Aerobic energy

(c) Oxygen Debt (iii) Anaerobic threshold

(d) Metabolic Mill (iv) Multiple of resting metabolic rate
(v) Alactacid and Lactacid

Code:

Options:

(a)—(v), (b)—(i), (e)—(iii), (d)—(ii)
91334285117,

(a)—{iii), (b)~(1), (e)—(v), (d)—{ii)
913943585118

(a)—w), (b)—(iv), (e)-(ii), (d)—(i)
91394385119.



WWW.PrePP.ifa).ii, (b)iv), (e)—(v), (d—() prepp
91394385120,

Question Number : 130 Question Id : 91394321670 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

gt 1t wgl o gt 11t wgl & farama $iforg oft = fog e g2 9 & ot o =t 9f |

et 1 et I
(a) ‘sfrear (i) difseeh-aval o e SH=al-EqFa
(b) G2 (ii) ety F

(¢) ‘aifgeftay 220 (i) faradta Sl

(d) WerEifer fre (iv) gea ot g2 3 o
(v) ueafie aun dwcfire

Options:

(a)—v), (b)—(i), (e)—(iii), (d)—{ii)
91394385117,

(a)—iii), (b)), (e)—{v), (d)—{ii)
91394385118

(a)—v), (b)—(iv), (e)-(ii), (d)—(i)
91394385119.

(a)—(iii), (b)—(iv), (e)~(v), (d)—(i)
91394385120

Question Number : 131 Question Id : 91394321671 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Match the items of List I with the items of List II and choose the correct answer from the
code given below.

List I List IT
(a) Dimension of Torque (@ 2
(b) Dimension of Impulse (i) 2 2
(e) Dimension of Pressure {1ii) M—lL::I T—E

(d) Dimension of Gravitational Constant (iv) M.LT_l
Code:

Options:

a1304385101, (B ()LD, (4D, (d)~tiv)

(a)—(ii), (b)—(iv), (e)~(1), (d)iii)
91394385122,



WWW.PIePP-ifa). i), (b)), (e)~(iv), (d)~(i) prepp
91394385123

(a)iv), (b)—(1), (e)-{iid), (d)—(ii)
91394385124,

Question Number : 131 Question 1d : 91394321671 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

gt 1R wgt 1 gt 10 gt & frama fifse oftt i few o e & & vt s =t g9

qe 1 |t 1T
(a) T 1 M W L2
(b) 39 1 AT (i) pp2 2
(c) FaTa F1 AW (i) 173 72

(d) HfeeyHe HIEe &1 AW (iv) MLT

Options:

(a)—i), (b)—(iii), (e)(ii), (d)—iv)
91234585121,

(a)—ii), (b)—(iv), (e)—(i), (d)—(iii)
91334385122,

(a)—iii), (b)—id), (e)—{iv), (d)—1)
91234285123,

(a)—iv), (b)—(i), (e)-{iii), (d)—(ii)
91394385124

Question Number : 132 Question Id : 91394321672 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Matech the items of List I with the items of List II and choose the correct answer from the
code given below.

List I List 1T
(a) Syndeomoses (i) Immovable joint
(b) Gomphoses (ii) Amphiarthroses
(e) Synchondroses (iii) Slightly movable joint
(d) Symphases (iv) Synnarthroses
Code:

Options:

(a)—(iii), (b)—(i), (e)—(iv), (d)—(ii)
912334585125,

(a)—iv), (b)—~(id), (e)—(i), (d)—(iii)
91334285126,



WWW.PIePP-IMa). (i), (b)—(iv), (c)~iii), (d)—(i) prepp
91394385127

(a)—ii), (b)—(iii), (e}—(i), (d)—{iv)
91234285128,

Question Number : 132 Question 1d : 91394321672 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

gt 1R wgt 1 gt 10 gt & frama fifse oftt i few o e & & vt s =t g9
I il

(a) fofeararea (i) e i

(b) TG (i) TfPFTEEE

() Foepietg (i) e e G

(d) fasbam (iv) HTERATHE

Options:

(a)—(iii), (b)—(i), (e)—liv), (d)—(ii)
91594285125,

(a)—iv), (b)—(id), (e)—(i), (d)(iii)
91334285126,

(a)—(1), (b)—(iv), (e)—{iii), (d)—(ii)
91334285127,

(a)—ii), (b)—(iii), (e)—(i), (d)—iv)
91234285128,

Question Number : 133 Question Id : 91394321673 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Matech the items of List I with the items of List II and choose the correct answer from the
code given below.

List I List IT
(a) Phenomenological theory (i) Adler
(b) Psychodynamic theory  (ii) Allport

(c) Behavioural theory (iii) Rogers
(d) Trait theory (iv) Watson
Code :
Options:
(a)—1), (b)—(iii), (e)—(ii), (d)—(iv)
291394285129,
(a)—(iii), (b)—(i), (e)(iv), (d)—(ii)
91394285120

(a)—{iv), (b)(id), (e)-(iil), (d)~1)
91394385131,



WWW.Prepp.iny) i) (b)(iv), ()i, (d)—iii) 'r °pp

9133458513%2.

Question Number : 133 Question Id : 91394321673 Question Type: MCQ Option Shuffling : Yes Display Question Number :

Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 Wrong Marks: 0

gt 1t wgl o gt 11t wgl & farama $iforg oft = fog e g2 9 & ot o =t 9f |

e 1 et I
(a) Higfaw g (i) UEH
(b) T fagm (i) 3T
(c) =Haerardl fagia (iii) Troref
(d) =& fagra (iv) aiesd
Options:

(a)—(D), (b)—(iii), (e)-(ii), (d)—iv)
91234285129,

(a)—{iii), (b)), (e)—{iv), (d)—(ii)
91394385130

(a)—(iv), (b)—(ii), (e)—(iii), (d)—(i)
91394385131,

(a)—(ii), (b)—(iv), (e)~(1), (d)iii)
9139438513%.

Question Number : 134 Question Id : 91394321674 Question Type: MCQ Option Shuffling : Yes Display Question Number
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Matech the items of List I with the items of List I1 and choose the correct answer from the
code given below.

List I List IT
(a) Situational factors readily change motivation (i) Presence of others
(b) Personal factors readily change motivation (ii) Goal setting

(e) Situational factors do not readily change motivation (iii) Focus of attention
(d) Personal factors do not readily change motivation (iv) Analysis of outcome

Code :
Options:
(a)—(iii), (b)—(i), (e)(ii), (d)iv)
913942851323,

(a)—iv), (b)—(iii), (e)(i), (d)—(ii)
91394385134,

(a)—i), (b)—(iv), (e)—(iii), (d)—(ii)
913345385135,

(a)—(ii), (b)—(iv), (e)~(1), (d)iii)
91394385136,
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Question Number : 134 Question Id : 91394321674 Question Type: MCQ Option Shuffling : Yes Display Question NUGMber ™ Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

gt 1t wgl o1 gt 11t wgl & faram ifsr oit = feg o e 9 & ot 3wt =t 9fi

et 1 et I
(a) feufoaa s sfuar 9 safinmo & sg@E @ 8 (i) =i 6 sufeufa
(b) Freft s sfrwan @ sfinhw 4 agamE @d 8 (i) e <t T

() Teufersma wme sfwar @ s § sgeme =8 @@ & (i) @\ #1 %2
(d) F=ht e sfiwan & safirino & sgae 78 @ 8 (iv) afcorms fagemo

Options:

(a)iii), (b)—(1), (e)—(ii), (d)—iv)
913943851353

(a)—{iv), (b)—(iii), (e)~(i), (d)—(ii)
91394385134,

(a)—1), (b)—(iv), (e)—{iii), (d)—(ii)
913943851355,

(a)—(ii), (b)—(iv), (e)—(i), (d)—(iii)
91394385136,

Question Number : 135 Question Id : 91394321675 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Match the items of List [ with the items of List II regarding principles of eurriculum
framework and choose the correct answer from the code given below.

List I List IT
(a) Interdisciplinary approach (i) Performing authentic tasks for healthy living
(b) Balance between breadth and depth (ii) Building strong and wide knowledge base
(c) Linkage between theory and (iii) Selecting only those sports/activities
physical skills that can be supervised well
(d) Safety considerations (iv) Essential knowledge in core areas besides
indepth study in chosen topic
Code :
Options:
(a)-ii), (b)—(iv), (e)—(i), (d){iii)
21394285137,
(a)—(iv), (b)—(ii), (e)—(i), (d)—{iii)
21394285138,
(a)—(i), (b)—(ii), (e)—(iv), (d)—(iii)
91394285139,

(a)—{iv), (b)—(iii), (e)~(i), (d)—(ii)
91394385140.



WN@U@ {135 Question Id : 91394321675 Question Type: MCQ Option Shuffling : Yes Display Questlon'lrrepp&s
Single Lirle Question Option : No Option Orientation : Vertical i Exams Guide

Correct Marks: 2 WrongMarks: 0
qresRA Bl o fagrdl = i gt 1R wel o6 gt 16 we 8 firem fifow o A= o mo ge |
o gat 3w @ gfi |
1 Tt I
(a) sFfawft surm (i) Ty Sftaq o ferg smafires sk e
(b) warg iR TEd % ofte deH (ii) woree ¥ faeqa 9 e ww
() fagra it mitfs wive & da w5 (i) &rd 37 waimfafafemt o wa= faw sgm Fieo &

LETR
(d) gram gadt fa=m (iv) =afa fawa 3 gt srera & sraran giand &=t |
T T
Options:
(a)—(ii), (b)—(iv), (e)~(i), (d)—iii)
91394385137
(a)—=(iv), (b)(ii), (e)~(i), (d)iii)
91394385138
(a)(i), (b)—(ii), (e)—(iv), (d)iii)
91394385139,
(a)—(iv), (b)—(iii), (e)(i), (d)—(ii)
41394385140

Question Number : 136 Question Id : 91394321676 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Match the items of List I with the items of List IT with regard to core values in curriculum
framework and choose the correct answer from the code given below.

List I List IT
(a) Respect and concern for others (i) Promoting common goals
(b) Social and civic responsibility (i) Commitment to regenerative resources
(¢) Environment responsibility (iii) Pursuit of excellence
(d) Achievement of potential (iv) Sensitivity for the well being of others

Code :
Options:
(a)—(1), (b)—(ii), (e)—(iii), (d)—(iv)
91394255141,

(a)—(ii), (b)—(1), (e)—(iii), (d)—liv)
9139438514%.

(a)—(D), (b)—(ii), (e)-(iv), (d)iii)
9139435851453

(a)—(iv), (b)—(i), (e)(ii), (d){iii)
913943585144,



WN@U@ {136 Question Id : 91394321676 Question Type: MCQ Option Shuffling : Yes Display Questlon'lrrepp&s
Single Lirle Question Option : No Option Orientation : Vertical i Exams Guide

Correct Marks: 2 WrongMarks: 0
qISdshn g % giardl et o i J gEht 1R we & et 1R wel o frem difa eit = g e
e # # wdl 3o+ g |
g I T I
(a) g@l % s et for () rs e wgran @
(b) grafaes afft Fmrfe sweiiea (i) yelATeRe Hial o uft sfaegm
(c) wafarvity e (iii) Ieeedl & FATH
(d) &Fal i Iqefa (iv) @t 1 FFrerdn & afa dag

Options:

(a)(i), (b)—(ii), (e)—(iii), (d)-iv)
91294285141,

(a)—(ii), (h)—(i), (e)—(iii), (d)—(iv)
91394385142,

(a)—(i), (b)—(ii), (e)—(iv), (d)iii)
913943551453

(a)—{iv), (b)—(1), (e)—{ii), (d)—{iii)
91394555144,

Question Number : 137 Question Id : 91394321677 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Match the Vitamins given in List [ with their signs of deficiency given in List II and choose
the correct answer from the code given below.

List I List IT
(a) Vitamin A (i) Beri-beri
(b) Thiamine (i) Angular Stomatitis
(¢) Riboflavin (iii) Muscular hypotena
(d) Vitamin D (iv) Keratomalacia
Code:
Options:
91394355145 (a)—iv), (b)—(1), (e)—(ii), (d)—(iii)

(a)—i), (b)—(iii), (e)(ii), (d)iv)
91394385146,

(a)—iil), (b)~(iv), (e)~(i), (d)—(ii)
91394385147,

(a)—{iv), (b)—(iii), (e)~(i), (d)—(ii)
913394385148.

Question Number : 137 Question 1d : 91394321677 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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gt 1% fau e faerfiet 0 gt 11 9 fu e a7 et 3 s & firerm fifse ot A9 oo o e
@ wet I+ g |

Tl 1 g 10
(a) faefim o (i) aftadt
(b) == (ii) TR WiHersfed

(c) Ugargeifa  (iii) Wesper grgare
(d) faerfim € (iv) Al

Options:

(a)—{iv), (b)—(1), (e)—(ii), (d)—(iii)
913943585145,

(a)—(D), (b)—(iii), (e)-(ii), (d)—iv)
91234285146,

(a)iii), (b)—(iv), (e)(i), (d)—(ii)
91394385147,

(a)—(iv), (b)—(iii), (e)—(i), (d)—(ii)
91394385148,

Question Number : 138 Question Id : 91394321678 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Match the communicables diseases given in List I with their causative agents given in List
II and choose the correct answer from the code given below.

List I List I
(a) Chicken pox (i) Mpyxovirus parotitis
(b) Measles (i) Varicella-zoster
(c) Mumps (iii) Ortho myxoviridae
(d) Influenza (iv) Para myxovirus
Code :
Options:

(a)—(iii), (b)—(ii), (e)—(iv), (d)—(i)
91394385149.

(a)—(ii), (b)), (e)(i), (d)-iv)
91234285150,

(a)-(ii), (b)—iv), (e)1), (d)iii)
91594285151,

(a)—(iv), (b)—(ii), (e)—(iii), (d)—(i)
91394385152,

Question Number : 138 Question Id : 91394321678 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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(d) S (iv) T grEEtaEE
Options:

(a)—(iii), (b)—(ii), (e)—(iv), (d)—(i)
91394385149.

(a)—(ii), (b)), (e)(i), (d)-iv)
91234285150,

(a)-(ii), (b)—iv), (e)1), (d)iii)
91594285151,

(a)—(iv), (b)—(ii), (e)—(iii), (d)—(i)
91394385152,

Question Number : 139 Question Id : 91394321679 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Match the items of List I with the items of List II and choose the correct answer from the
code given below.

List I List IT
(a) Strength endurance (i) Speed play
(b) Reaction ability (ii) Intensive interval method

(c) Endurance (iii) Part method
(d) Speed (iv) Extensive interval method
Code :

Options:

91394385153, (a)—iii), (b)~(id), (e)—(i), (d)—{iv)

(a)—i), (b)—(iii), (e)—{iv), (d)—(ii)
913945385154,

(a)—{iii), (b)), (e)—{iv), (d)—(ii)
91394385155,

(a)—(iv), (b)—(iii), (e)-ii), (d)—(i)
91394385156,

Question Number : 139 Question Id : 91394321679 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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(a) i gesferer () R @w

(b) wferfsran s (i) & SHaUe Tgfa

(c) TaEeiterat (iii) =791 9gfe
(d) fer (iv) g&q HAaue qgf
Options:

(a)—(iii), (b)(ii), (e)-(1), (d)-iv)
91594385153,

(a)—(i), (b)(iii), (e)(iv), (d)(ii)
91394355154,

(a)—iii), (b)—(1), (e)—{iv), (d)—(ii)
91394385155,

(a)—{iv), (b)—(iii), (e)-(id), (d)—~1)
91234285156,

Question Number : 140 Question Id : 91394321680 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Matech the items of List I with the items of List II and chooze the correct answer from the
code given below.

List I List I1
(a) Dynamic Concentric Method (i) Resistance more than 100% maximum strength ability
(b) Static Method (ii) Isometric exercises are used
(¢) Isokinetic Method (iii) Heavy resistances are overcome repeatedly
(d) Dynamic Eccentric Method (iv) Muscle applies maximal force throughout the range of
movement
Code:
Options:

(a)(iii), (b)(ii), (e)-(iv), (d)—(i)
91394385157,

(a)—{iii), (b)), (e)—{iv), (d)—(ii)
91394385158,

(a)—i), (b)—(ii), (e)(iv), (d)(iii)
91394355159

(a)—(iii), (b)—(ii), (e)—(i), (d)—iv)
91394385160.

Question Number : 140 Question Id : 91394321680 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

(a)(iii), (b)(ii), (e)—(iv), (d)—(1)
91394385157,

(a)—(iii), (b)), (e)—(iv), (d)—(ii)
91394385158,

(a)—(D), (b)(ii), (e)-(iv), (d)iii)
91394385159

(a)—(iii), (b)(ii), (e)-(1), (d)-iv)
912394285160,

Question Number : 141 Question Id : 91394321681 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Match the items of List I with the items of List II and choose the correct answer from the
code given below.
List I List I1
(a) Extraneous variable (i) Variables in between cause and effect
(b) Independent variable (ii) Variable to be affected by manipulated variable
(¢) Intervening variable (iii) Variable which is manipulated

(d) Dependent variable (iv) Uncontrolled variable having significant effect on
unmanipulated variable

Code :
Options:

(a)(ii), (h)—1), (e)-(iv), (d)iii)
913945385161,

(a)—iv), (b)(iii), (e)(i), (d)—(ii)
91394385162,

(a)—(iii), (b)—~(iv), (e)—i), (d)—(ii)
91394385163,

(a)—iv), (b)—(iii), (e)-(id), (d)—~1)
91394385164,

Question Number : 141 Question 1d : 91394321681 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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(a) =&l =R (i) AU 3 T9TE & 7 =
(b) &aa =T (i) EEETerd = R 99Tfad 84 aret =¢
(¢) wegadl =R (iii) = Fordt gea=nfera femn st 2
(d) FnfHa =X (iv) SgEq=Tferd = T Hewagl w91E T ard At =
Options:
(a)—(ii), (b)—(i), (e)—(iv), (d)—(iii)
91394385161,
(a)—(iv), (b)—(iid), (e)—(i), (d)—(ii)
91394385162,
(a)—(iii), (b}—(iv), (e)—(i), (d)—(ii)
91394385163,
(a)—{iv), (b)—(iid), (e)—(ii), (d)—(i)
91394385164,

Question Number : 142 Question Id : 91394321682 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Match the items of List I with the items of List IT and choose the correct answer from the
code given below.
List I List 1T
(a) Descriptive statistics (i) Regression equation
(b) Relationship statistics (i) t-test
(¢) Predictive statistics (iii) Karl Pearson’s correlation
(d) Comparative statistics  (iv) Chi-square
(e) Non-parametric statistics (v) Standard deviation
Code:

Options:

(a)=v), (b)—iv), (e)(iii), (d)(D), (e)(ii)
91394385165,

(a)=(v), (b)iid), (e)(i), (d)ii), (e)-(iv)
91394385166,

(a)—(iv), (b)—(iii), (e)—(i), (d)—(ii), (e)—-(v)
91334285167,

(a)—v), (b)—(i), (e)—(iD), (d)—(iii), (e)~(iv)
91394385168,

Question Number : 142 Question 1d : 91394321682 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

(a)=v), (b)—iv), (e)(iii), (d)(D), (e)(ii)
91394385165,

(a)=(v), (b)iid), (e)(i), (d)ii), (e)-(iv)
91394385166,

(a)—(iv), (b)—(iii), (e)—(i), (d)—(ii), (e)—-(v)
91334285167,

(a)—v), (b)—(i), (e)—(iD), (d)—(iii), (e)~(iv)
91394385168,

Question Number : 143 Question Id : 91394321683 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Matech the items of List I with the items of List II and choose the correct answer from the
code given below.

List I List IT
(a) McDonald Test (i) Tennis
(b) Lockhart and McPherson (ii) Volleyball
(e) Dyer Test (iii) Badminton
(d) Russell-Lange Test (iv) Soccer
Code:
Options:

(a)—{iv), (b)—(iii), (e)-(id), (d)—~1)
91234285169,

(a)—(ii), (b)), (e)iv), (d)—(i)
91594285170,

(a)—(iv), (b)—(iii), (e)—(i), (d)—(ii)
91394385171,

(a)—{i), (b)—(iv), (e)—{iii), (d)—(ii)
913943585172

Question Number : 143 Question 1d : 91394321683 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

(a)—(iv), (b)—(iii), (e)—(il), (d)—(1)
91394385169,

(a)—ii), (b)—(iii), (e)-{iv), (d)—~1)
91394385170,

(a)—(iv), (b)—(iii), (e)(1), (d)—(ii)
91394385171,

(a)—(1), (b)—(iv), (e)—(iii), (d)—(ii)
91324285172,

Question Number : 144 Question Id : 91394321684 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Match the items of List I with the items of List II and choose the correct answer from the
code given below.

List I List I
(a) Explosive strength (i) Squat thrust
(b) Agility (ii) Bridge-up Test
(c) Flexibility (iii) Sargent Jump
(d) Strength Endurance (iv) Flexed arm hang
Code :
Options:
(a)—(i), (b)—{ii), (e)—(iv), (d)—(iii)
91394355173,
(a)—(iii), (b)—(i), (e)(ii), (d)iv)
91394355174
(a)—(iii), (b)—(id), (e)—(i), (d)~(iv)
2153942585175,
(a)—(iv), (b)—(iii), (e)—(ii), (d)—(D)
91394385176,

Question Number : 144 Question Id : 91394321684 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

(a)—i), (b)—(ii), (e)(iv), (d)(iii)
91394385173

(a)iii), (b)—(1), (e)—(id), (d)—(iv)
91394385174,

(a)(iii), (b)(ii), (e)-(i), (d)iv)
91394385175,

(a)—iv), (b)—(iii), (e)~(id), (d)—(1)
91594385176,

Question Number : 145 Question Id : 91394321685 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Matech the items of List I with the items of List II and choose the correct answer from the
code given below.

List I List IT
(a) Formal rules and procedures (i) Make everlasting organisation
(b) Jurisdiction (ii) Framework of organisation
(e) Permanency (iii) Existence in any matter

(d) Membership (iv) Organisation boundaries, functions
and area of operations

Code :
Options:

(a)—{iv), (b)—(1), (e)—{iii), (d)—(ii)
91394385177,

(a)—iv), (b)(iii), (e)(ii), (d)—(i)
91394385178,

(a)iii), (b)—(1), (e)—(id), (d)—(iv)
91394385179.

(a)—(ii), (b)—iii), (e)~(i), (d)-liv)
91394385180.

Question Number : 145 Question 1d : 91394321685 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:
(a)—iv), (b)—(i), (e)—(iii), (d)—(ii)
91394385177,
(a)—{iv), (b)~(iid), (e)—(ii), (d)—(i)
91394385178,
(a)iii), (b)—(i), (e)(ii), (d)(iv)
91394385179,
(a)—(ii), (b)—(iii), (e) (i), (d)—(iv)
91394385180,

Sub-Section Number: 6
Sub-Section I1d: 9139431161
Question Shuffling Allowed : Yes

Question Id : 91394321686 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (146 to 150)
Cesticn Label | Comprehension

Read the following passage and answer questions given below :

The exercise intensity reflects both the caloric cost of the work and specific energy systems
activated. The intensity appears to be the minimal stimulus required to provide training
improvement. To calculate the maximum heart rate we use a formula 220 — Age of the
person. The intensity zone for various type of training demands varies. The training
intensity zone for fat burning is around 60% of the maximum heart rate. But if we want to
develop aerobic capacity, the training intensity should be around 70%. Similarly, for
developing anaerobic capacity then it is 80% of the maximum heart rate. There is a
minimum level of energy required to sustain the body’s vital functions in the waking state.
This energy requirement is called the Basal metabolic rate (BMR). To estimate a person’s
resting energy expenditure in terms of total Keal, the appropriate BMR value is multiplied
by the surface area computed from stature and mass. To calculate the energy expenditure
for various types of physical activities, multiple of the resting metabolic rate (MET) is used.
One MET is equivalent to the resting oxygen consumption that, for an average man and
woman, is approximately 250 ml and 200 ml per minute respectively. Working at 2 MET
requires twice the resting metabolism or about 500 ml oxygen per minute for men and so
on. Researches have shown that 5 Keal is approximately equal to one litre of oxygen
consumed.

Sub questions

Question Number : 146 Question Id : 91394321687 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



WYY RLERE Rate is the minimum level of energy required to sustain which of the body’s 'relpmpd
vital funetions ?

Options:

Daily routine of normal female
291594255181,

Complete rest and waking state
91394355182,

Complete rest and sleeping state
913942385183,

Daily routine of normal Athlete
291394285184,

Question Number : 147 Question Id : 91394321688 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

The fat burning intenzity zone of a 30-year-old male will be

Options:

108 bpm
91334385185,

118 bpm
H1334585186.

128 bpm
91394385187,

138 bpm
91334385188,

Question Number : 148 Question 1d : 91394321689 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

The anaerobic intensity zone of training for 20-year-old male will be
Options:
91394355189, 150 bpm

160 bpm
91334385130,

170 bpm
H91334555191.

180 bpm
91394385192,



Quaion Pye@,mg Question Id : 91394321690 Question Type: MCQ Option Shuffling : Yes Display Question RUHD{D:[Des
Single Lirle Questio

n Option : No Option Orientation : Vertical Your Personal Exams Guide
Correct Marks: 2 WrongMarks: 0

For a 55-year-old male, the estimated BMR is 32 Keal per mz per hour and his surface area
is 1-40 mz, then his daily energy expenditure will be

Options:

91394385193, 1010 Ll
159435510, 1365 Keal
o150438s1gs 1775 Keal
91394385196, 1010 L

Question Number : 150 Question Id : 91394321691 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

If a male performs exercise at 4 MET for 20 minutes, then his energy expenditure will be

Options:

9139435197, o0 el
91394385198, 0o
91394385199, o0
91394385200, 00

Question Id : 91394321686 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (146 to 150)
Juestion Label - Comprehension
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e SiHE GUR WEH w & foe swfea mpmam sdhe wfta gt 8 | sifieean g fa o &
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Sub questions

Question Number : 146 Question Id : 91394321687 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

aie demEifers @ it A fom gevl frned i sermm @ % fo anifie ol 1 Eam s g 2
Options:

gmg qfgen #1 2 w9

912334585181,

oo fagmm afk smra svaen
91394385182,

qut fasms it srmTaEn
91394385183,

T UEte F1 ¢ w49
91394285184,

Question Number : 147 Question Id : 91394321688 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

30-aTa 769 I T61 Feae TeAdT &7 B
Options:
313343851385, 108 bpm

118 bpm
21594255186,

128 bpm
913342585187,



WWW.Prepp.iRsg pom prepp
91394385188,

ersonal Exams Guide

Question Number : 148 Question Id : 91394321689 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
20-aTa 7ew % fere wfiem s wdifares e & B

Options:

150 bpm
91334385159,

160 bpm
913245385130,

170 bpm
H91334555191.

180 bpm
91394385192,

Question Number : 149 Question Id : 91394321690 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

U 55-a91% JE9 F1 AT A0 HN. 32 Keal Wi m” 9fi b1 2 it 351 g 8% 1-40 m”
2, 79 Iq 2 S oug g
Options:

_
91394385193, 1070 Keal

_
91394385194, 1000 Keal

_
91394385195, 1710 Keal

_
91394385196, 1010 Keal

Question Number : 150 Question Id : 91394321691 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

fg v ey 20 firme 9% 4 w3 A B R AW Fal 2, 9 I5H FaAl 47 7
Options:
91394385197, o0 Keal

91394385195, o0 Real
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91394385199

91334585200, 100 Keal



